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��!��  � >% :�� �8� �3 �2 >% :�� ��� �� �= ��$$���� �2 �� �!�22� ��2 
	�#
�� �2 
	�  � <� >���� �2 �!��!�� ��8�!�# �% �� ��8� �������!� ��!�<�B  � �=
�����;�2� ����$� �!� �<� % ��!8�:�� �� �� �!�22� �;;�� �8%�� ��22� ��)
!� :�E Y333Z3 �� �8%�� �� �2 $� �!�2� 
� � ��2�� ��22�?%�  �� $��! � �%�)
�����8�3 �2� ����� �� >�!� ;� � � �� �!�22� � 8���!� �� �2 ��!8�:�� 
	� �8�8�
�>>����8��� �� �>>���%��� �%��� � �� �!�22�  ������!�3 �%� �� ��!��= �%� �2�)
�� �� �� 8� �� ��3 � � �<� �!� % �!$��� �� �� 8� �� �� � !�:�� �2� �
����� :��2�� �� �� ����8� �<� � �<����!� ��8�!���= �� �� �!�22� � � ������
�%� ����� �!����;�2��� ��! �>>���%�!� � �� �!�22� ������ �� � � ��2��� ��22����8��
��!�<�B 2�� ���� �� ��! ������ ��# ��! ��>���� �� �� %�� :�� �# �88�� � � 
�2�!� ����� ��8� �� ��2��� �2 ��2��� �= � �<� �2 ���!� � ��22���!��3 �� ?%�)
���� � ��8�8� ?%� �� ����!� ����2%���� �� ���2%��3 �%� �� >��� 8���!�
��� % ��::� �� ��!�� ��8� 8� �!� % �!������� � � ����8� ;� ���� �� ?%�)
��� ���� ����  � ������� ���� ������/" 8� �!� % � ��!�� �� ��22� �# �� �!����
�� % �!�������  �������� �<� 8�� $��= �� ������3 �%� �� ����� �22�!� �<�
;���$ �8� ����!� ��%��# �� ����� ��  � �����!� 2� ���� ��2 ������ �� ��!)
�<�B ����8� ����!� ��!���2���3 ����8� �!����!�� �� % ��!�� ���!� ��# � �<�
�� % �����2�13

-% ���C=# ���% ?%�# �<� -�!���� 0  � ���� �� 2� ��������� � �%:)
:���� �8���� 2������� ���!�� % 8� ��$2�� �� ������� �%22� ��%�� ��2 ������!�
��!��# ���� �8�! ���2%�� �2 ������ �� ��!%��%!�2� � 2� ��22���� � � 8�2� 0 �2
'6 �����;!� '45*# �%!� �� �2 ��;������ �22� ����!� �%2 ���� ���8��# ������
�� ���!�����!� 2� ���� ��22� ;����$2�� ��!��" @�!��� �<� ?%�22� ��2 �����2�
!���� % � ������� ��%= �!�;�;�2� ��22� �2�!�13 9%�2 $��! �# ��2 !����# ��! !�>)
>�!:�!� ?%���� 8�!��� �# �2 �� ���!� ��� �!����!�� 2���� % � 2% $� 2����!�
��22��88����� 	2�� 
�8� :�2� �../  �22� ?%�2� �� �>>�!��8�# >!� 2��2�!�# 2�
@��!��::� ��22� ����!%:�� � �� ���!� �� % �����2�13


- 9%�22� >�2$�!�:�� � ����$� �>��� � >� �������

��2�� ��$�!��# �� ���!� ��22� ��>��� �22������ ��� >����# � !�2�:�� �
�22� 8��� ���!������� � ���� ��!2��� ��!� ��2 ��22�$� -�!����# <� ���C=
����� ���� @2�������� ��2 �����2�1  �2 ��!�� ��22� �%� ������� �� :� � 
��������� � ��!�$� �.,T ���%�� 0 + 2%$2�� '454/" @
���!�� �<� � % � � )
������!� ��2 �� ���# �� �!� �2 �� ���!� -�!���� %���8� �� % � �%��:�� �
�� �� ������ ���8� ��! � �!�!� � ?%�22��%2�# �2 �� ���!� -�!���� ������ ��
�����" E-�!�� ;���$ �!�= �����!� � �� �� � �<� 2�������� ��2 �����2�E3 ��
!���!�� ;� ������ � 2�<� ����!� !�>�!��� �$ � 8�2�� �<� �� �= ����� �<�����#
� �<� ��22� ��$���!��%!�3 �� � ��!�= �� �� ��$%� :� ��������%�� ��2 >����
�<� �2 �!����� �� �%�2���!�# � % ���%�� �� �!���!���!�� �� ?%���� �%��)
:�� � ��%;;2����� � �<� ��� $��! �2�/# �;;�� ��!���� �<� % � �!���  ��� ���)
 ��� �= �<� -�!���� ��!2� ��2 �����2� � ��$�!��# �� ��$�!��  � !���!��3
�� ��2$� �� ?%���� ���!������ � ��!�<�B ��  � �� � ����!� !���!����3 -�!)
���� �� ����� � ?%�22� ��!����� :� ��2� ?%���� �  � �2�!�3 �2� ���� ���
�� ���!� � !���� �!� � 2%� �� �����" E��# ��2� % � 8���E3 �� ����!�� ?%� ��
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2� �%� ���� % � ��>>���� � �� ��2�C= 2�� �!����= ��22� ����3 �� ��!8� � �!�)
��;�2�# � :� �� ��!8� % � �� ?%�22� ���!�88��� >�2$�!�:�� � ����$� �>��<�
� >� ������<� ��! �%� �2 ��� ��!� ����� -�!���� �= >�����13

��
@ �� ���!� ��22� ��>��� �= ��! ��� ?%� �� �%22��!$��� ��  �2 ��!��
��22� �%� ���� �� �%��:�� �# �2 '7 ����;!� ��2 '44' �4'T ���%��/ � ���)
������ �" @��$2�� � �� �� ��!� �<� ?%� �� ��  �2 '454 <� ��>� ��� ?%� � 
��������� � >� ������� �2 �� ���!� -�!���� �8�8� � ����� :� �!��� � 
�!������ % � ���!����� � �� 2%� %���� � �� ���  �2 ��>� �!� 2� �������# ��)
8�!�� �� ?%�22� �� 2%� �  % �����# ���� ���������
 ��!� �%� � �<� ?%�22�
��2 �����2�/3 �� ?%���� ����� � �2 !����!�� ��!�� �2� �!� �2 �� ���!� -�!)
���� � ��3 -���� �= �<� ?%� �� �2 �� ���!� -�!���� �� ����� ?%����#
����= �<� >�!�� �� ��8�8� �����!� � �� �� � �<� �2 �����2�# �� $2� ���� ���
�� �8�8� % !���� �!� � % ?%�2�<� �2��� �� �<� 2� ����������# �� �$2� ��
����� �<� �� �!����8� ��2�� �� �� % � �������# �� :� ��!2�!�� �� 
� �3 ��2��
�  � ����# �%������8��� �� �22� ��� �%��:�� � � ?%���� ����# ��!2� ��
�� -�!���� <� ���%�� �2�!� ����# ��!�<�B -�!���� �� ����� �<� 
� �
$2� �8�8� ��!���� % >�$2��# ��>� ��� % � �!���!�:�� � �� !�$���!�:�� �# �
�% ?%���� >�$2�� $2� �8�8� ����!��� �2�% � +����	��� �<� 0 � $�%��:�� ��

� � 0 ����8� � ��$ �>���!� 2� �!��� :� �� % ��!�� ��8�!�� ��2 
�4  �22�
���:�� ��!�� ��2 
�4 ������3 �� �2 �� ���!� -�!����  �2 '45* �� �� >%
��2�� ��%= �;!�$���8�# ���� �� �<� �� �!����8� ��2�� �� �� % � �������3 ���)
����  � �� ����� �2�% !���� �!� � �2��� ��# � ����<�B �22� !��<�����
�� ���� �� ��2���!� �� �����>���!� ���� �8�8� � 8����# �� ���� � ���%��
�% ?%���� � ���� ��# 2� !������� �22�!� % �8��� >% ����!� �<�  � ���!� �
 �8�#  �B  ���!�  �B �� �2�!�# � ��!��#  �B  ���!�  �B �� �2�!�#  �2 ��!!���!�� � ��)
!������# !���  � �<� �� ?%���� 2�������� � ������ �� -�!����  � �������
����!� ��2��8��� ��  � # � ?%�2 �% ��# ��! � �:����8� ��2 �� ���!� ��� �!�)
���!�� �!���� 2� ��������� � �� � �<����� ��22� ������  ��� ���3 �� ��
�� ��� 2� ���� �;;� ��$%��� � �� �13

)5# #5������
 ,���

��8�!�� 
� �# 
@ $� �!�2� ��22�	�!� �%���� ��2���!�# �!������8� �2

	� ?%� �� �2 
�4 ���8�� �� � �;����= � �%� �� �� :�3 �2 
�$���!� 	�!� �%)
���� ���2�� � 0 ������%��� �� !�$�� ���!��� �2 .,  �8��;!� '4(5 �.(/ 0 �= % 
� �� �%�� ��� ��!!���� �� �� �2 
�$���!� ��8�2� �>� � �2 '4(5 � �%� �!)
$� � �!� � % �>�����/ �<� <� ���� ������� �����%:�� �2�# >!� 2� �2�!� ����# �2
�� �!�22� ��� ��� �%22� ����!%:�� � �� ��!���;�2�#  � �<�B �2 �� �!�22� �%22�
@;%� � �� ��:�� � ��  �8�$�;�2���= ��$2� ��!���;�2� �%!� �� �2 2�!� ���!��:��
��!�3 . ��22� ����%�� ��2 
	�# ���!�8��� �� ���!��� ��2 �!����� �� ��22�

��%;;2��� ��2 . ��!:� '46' 0  3 .57/13 ��! �%�# � ��!��>����� ��  �8�$�)
;�2���= ��$2� ��!�� �����!���2��� � ���2�� 2� !�2����� �2 
	�3

�� � ���2%��8� ������� :� �� ?%���� � ��# ?%� ��# �%��� 2� 8�2%��)
:�� � ��� ��<� � �!�� � �22� ;%� � �� ��:�� � ��  �8�$�;�2���= ��$2� ��!�)
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��;�2�# � �<� �%!� �� �2 2�!� ���!��:��3 	2 �� ����!� ��� �!����!�� � ��22�
	8��:�� � ��8�2� ������� ���2%��8��� �� 2� 8�$�2� :� �%2 
	�# �� �� ��
��22��!�3 7 ��22� 2�$$� ��2 (* $�  ��� '4+(  3 ',' ������%��8� ��22��������)
!��� $� �!�2� ��22�	8��:�� � ��8�2�/3 ��!�� �� �2 $� �!�2� 
� �# ���� �
���� �2 ������!� ��2 
�4# �22�!?%� �� ��22� �!��%!� �� ��2�!�� � �:�� �
� �!���2�!� 2� �!��� � ����!�:�� � � ��!��� �22�������� �� % �����;�2� ��)
���� �� ��!%��%!�2� ��22���!�� ?%�2� ��%�� ��22� �!�$����# �� �� �C= �������)
���� �� ��!��� � ;�22�3 �� �!����%��:�� � ��2 �!����� �� ��2 
	� �!� �# � 
?%�2 ���� ��# �!�>� �� � 2�$������3 �%���8��# ?%�22� �<� �������  ��
$��! � ��$%� �� �22�� ���� �� �= % � ��� �����$$� ��%= �� �!�8�!�� ��22�� ��!�
8��� ��3

� ;��� � ?%�22� �<� <� ���<��!��� 2�
@ �� ���!� -�!����# �2 $� �!�2�

� � � �!�= � �������� 0 ?%�2�<� $��! � ���� �2 .6 $�%$ � '45* 0 ���
�!������� ����� ��2 
�4 �)����3 9%���� ��;%2��� �% ��!�� 8�  � � �<� ��)
��!��� �22��22�!� �� ���!� ��� �!����!��3 �2 ���%�� �� � ?%����� � �= 2��!���
 ��� �!������� �<� ����!� % � ��!�� �� �% �� �!��2�;�!�:�� � $!�>��<� ���
8�!� +	��� !���8��� ��22� 2���%!� ��� ���� �����/ ��%= � �� � � 2� �� !����
��!�)�%�3 9%�2 �!�������# �%���8��# !��%2��8� >�!��2�� �� $��= ����� �����
��?%���!� �� ��!�� ��22��%��!���= $�%��:��!��# �� �� >����  � �!� � ��������
��� ��$���!���3 ���� >���8�# ?%� ��# �� ����!�  �22� �� � ��2 �!����� ��
��2 
	�K � ���!���%���# � ?%�2� ����2� �2 !���� ��;�2� ��22�� �� �<� ��8�
8�$�2�!� �%22� ;%� � �� ��:�� � ��  �8�$�;�2���= ��$2� ��!��# � 8�� ��2 �%���
� >�!��2�# �%$$�!���� �2 �� ���!� ��� �!����!�� ��  � �����!� 2�������� ��2
������ �� ��!%��%!�2� ��!�<�B ����8� �!����!�� �� % �����2�K 9%���� � ��!!�)
$���8� �� �� %� � � ����!� �%2 ���� ������3

9%���� �= % �����$$�� �!%���2�" ��! �2 �� ���!� ��;�!� �%�2���!� ���=
�!� � ��!���� �� ���!���%��� ��!�<�B @�2 ��$���!��� � �2 �!����� �� ��22� ���)
������ � ��� �<����� ��%::����/ �;;�!� 2� �!��� ��!�� �� ?%���� ���%�� )
��:�� � � �� ?%����  ���!� �2 8� ���������� $��! � ���� 2�� ���� ��3 �� ��)
�%�� ��:�� � !����%� 0 ?%�22� �� ��!��2� � ����2� 0 !�%���!� � �� �8�!2�
�� �� $��! � ����13 
�2��8� �� % � ��!�� $!�8���= �%22� ?%����� � ,���2����2
����� �����2�+��
�� �����	
 �� � �� �� %��  �22� �� ����!�:�� � �$$�% ��8�
��22� ������ 
�2�:�� � ���� �" @�� !���� � ��8�!��� !��<����!� 2� ���<��!�)
:�� � ������� ��2� !��� � ���� �� � �<����� ��2 $� �!�2� �� �?%��!� 	�!��
���!$�� �� �%���# �22������ ��22�� ���� �� ��2 
�4 ���8�� ������� ��2���!�
� U��<� $�� Y� ��!��� ��22�����;!� '465 �22�����;!� '45'Z3 ��2� ���<��!�)
:�� �# �2�!� � ��!� % �%���!�� �2 �%;;�� ���!� ������� Y����=# �%22� � �� )
����� :� ��� ���� !���8��� ��� ����� !�$%�!�� �� 2� �����;�2� �!��� :� �� % 
���� �� ��!�� 8��� � �22��)����" ������� ?%���� $�%������ ����2%���� ��
���!�;�;�2�# ���Z# �� � ��!� � ��!!�$���8� �%22� ��!!����::� ��22� �� �%)
:�� � �� �2�% � � ��$� �# �2�!� �<� �%2 �����!���� �� �� %�� �� ��!��)
 �$$� � ��!������ ��! 8�!� ������� �2 ����13

���22%��� � �2 �!����� �� ��2 
	� �= �8��� ��# � �<� ��!�<�B �2 $� �!�2�
�� �%��� 0 � ���� �� ������� �� :� ��8� �� �22� ��������� � ���� � �.,/

���<��!�= �� �8�! �������� �2 $� �!�2� 
� �#  �22� �%� �;���:�� � � U��<� $)
�� # �%!� �� % 8��$$�� �� ?%����%2����  �$2� ����� � ��� @�>>���%��� �!���
��2 '* ������;!� '45*13
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%!� �� ?%�2 ��$$��! �# 
� � �8!�;;� ��!���� �� ��B 2� ;�;� � ���
�!������� ����� ��2 
�4 ���8�� �2 >� � �� >�!2� ����� �!� �� �2�% � ��� ���"
�%��� ���=# �!��� ��22�� �� �!� %>>����2� �<� �� ��!�;;� �� %�� �2 ( ����;!�
�%������8�# ���� ������� �� � 2� ��<��� ��22� ������ � �22�����!� ��2 �!�)
���� �� ��2 
	�3 ����!� ���� �� �2 �� ���!� �%�2���!�# @�� �2 $� �!�2�

� � �!!�8�= � 	��!��� �!��� ��2 8� ���������� $��! � Y���� !�2���8� �2)
2���?%���:�� � �� �2�% � �!������� ����� �� ��!�� ��22� ��$���!��%!�Z# ��$ �)
>��� �<� �8�8� �� ��B ���%�� �� �  ���!� �<� � ��!�  � �!� � ����� ��?%�)
����  �B ��2 ��$���!���#  �B ��2 �!����� �� ��22� ��������� � �� � �<�����3 ��
�!!�8�= ����# ;���$ � 8���!� �<� $2��2� �8�8� ����13

9%���� ��!����2�!�# �� �$$�#  � �= ��� ����� �<��!���3 �2 $� �!�2� ���!)
$�� �� �%���# ��! �� �!�# <� ������� ���� ��8� �� �22� ��������� � ��!�$�
�2 .* 2%$2�� '454 �.+T ���%��/3 9%���� �� � �2�% � ;!� � ��22� �%� �%��)
:�� �3

�- �% ?%����  ���!�  � �� 8���  %22�

@��!!�� �!�����!� �<� �>>!�� �2 ��� ��%�� �2 �����! 
� � � ����2� ��!��)
 �2� � ?%� �� �$2� �!� % ��8�2�# 
@ %>>����2� ��22�	�!� �%���� � ��� ;%� 
�����3 ��!�� ��  � �!�  �22� ��� 8���� %>>����2� �� ������� ��!� �%����
�<� �8�2�� ?%���� ������� Y333Z3 � ��!����2�!�# �2 �����! 
� � �!� % �����#
% ��2��� ��2���!�# �2 �!����� �� ��2 
�$���!� 	�!� �%���� ���2�� � � ?%� ��
��%��!2� �!� �� �����!� ���� �� % ��8�!� � % �����!�3 9%� ��# �����)
��$ �� �� ��!�� � �2 �����! 
� � �2 ���� �� � ��!:� ��� � ��22� %
�
��	
$������� $�
��B� � ����� � ?%�����2�!� ��$ �!� �<� �!� ��!���� �� ��2

	� � ��22�	8��:�� � ��8�2�3 �� 2������ 2C= �2 �!��� $��! � �� ���� ��! �!� �
� ��H� �2 ��� %>>����3 
�� ��!� � 2C= � ��H� �2 $��! � ���� �� �� � ��� �
!��!� ��!2� ��!�<�B �� ��2�>� �!� �3 9%� ��!$� 2� ��� �!����� �>>�!��:�� �#
8���� �<� ��� �� �� 2� ���2� �!��%��� �2 �����! 
� �# �<�  � �� ����8�
2�� $2��� �  � �8�8� % � �� ���� :� ��2�� �2��� ��!�# 2� ��!�2� �� % ��)
$ �!�# �� �%�  � !���!�� �2  ���# �2 ?%�2� ����� ����� ���� ��" ����� ����)
�� �� ��  � ����!8� ��%��!�# ��!�<�B � ?%����  ���!� 0 2� ��!�2� %���� >%
��+
 D  � �� 8��� ����2%���� ��  %22�13
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@���� ������� ��!� �%���� � ��! 2� ��>���# ���� ��8� ��2 �� ����!�
��22� ��>��� � �!� ��8� �!�� � ��2 ���� �� ����� ��$$��!� ��22� 
�>���#
��2 ��$!���!�� �� �!�2� � ��2 ���� �� ����� ��$$��!� ��22�	�!� �%����3
9%� ��# ��! � �!��!� ��!� % ��:�� � %>>����2� �!���� �2 �� ��$� �# �2 
���!)
���� �� �� ����� � 2� 	$� :�� ���!��� � �!���� 2� ?%�2� �8�8��� � ��!����
��! ��?%���� �� ����!��2�# �!� ��8� �!�� � ��22� �!� �%��!���= �<� <� ������3
�� �2 $� �!�2� 
� �# �<� ���� �!����� �� ��2 
	� ���� ��8� ��2 �� ����!�
��� �!����!��# �8���� ��8%�� � ���%�� � �!��!� ��!� % ��:�� � %>>����2�# �!�)
�%��;�2�� �� �8!�;;� ��8%�� ��$%�!� � �� �2� %>>����2� ��22���;������� �
 � !�8�2$�!�� �$2� ������� ��2���!�13
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@�� $� �!�2� 
� � �� ������ 2� �%� ��!�2������= �%22� ��%�� ��22�� ��)
�� ��3 �� ����%����� � �����3 �� ��!�=# >!� ���� ��# �<� 2� ��� �!���
���� 0 2� �����2� �� ��
� D >% ?%�22� �� % � ������ ��!%��%!�2� ��2 8�2�8�2�#
� �<� ��!�<�B 2� ������ $� �!�2� 
� � �� ����� �<� 2���!�� �!� ����� ��?%�)
����� ��22� ��P���� 	�!P�L� � �<� �8�8� >���� ��2������� ���2� �� 8�2� � 
�2��� � �!�� ��2����!�3 �%� ��!�=  � �!���8� � ?%���� �������# �� �!� ��
������ �� ��8� �<�  � >���� �� !�$����!� ����2����� ��# � �<� ��!�<�B#
���� �=  ���# �� � ���� �� ��!�� ��! >����<� ��!%��%!�2� ��  � �� � 8�!�>�����
��8�!��3 ���= ����� % ����" ?%�22� �� % �� � �� ���� �% % ��!�� 
�4
��22� �� ���� 	�!P�L�# ��  � �!!� �!��!�� � ?%�$2� �  �3 � �2�!�
���� �= ?%�22� !��� �� ��22� ��P���3 �2 $� �!�2� 
� � �� ����  �= � �<� �2)
2�������� ��22����2���� � �� ;��;�2� �%;��?%�� ��;�!���� �%22���!��3 �� ��
>���� ����� % � ;��;�2� ��!���# �8!�;;� ���%�� ��>2�$!�!�  �22� ���8�3 ��
����� �<� �!�;�;�2�� �� �!� � ����� ��;�!���� � ;�!�� ��22� ;��;�2� �%)
;��?%��3 �� % � ;��;�2� �= ��!����� ����� �!����� � � :��<�B ����!� ���!���#
���� � 8��� �!�8��� � 2�  �!��# ������%���� % ���� :��2� ��!���2�3 ���#
>��� 2�������� ��22����2���� � �� % � ;��;�3 -% % � ����%���� � ������)
����3 ���� �� ����� �� ������ �!����� �� �� ��������� � �� � �<����� �% � )
���� �� ��!� �%����# >������ � ����� % � $���� �� �������# �� ;%� �
����� � ��2���13
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@�� !���!�� ��!�<�B �!� ������ � ���� ���3 �� <� 8���� ��2�� �� % �
�����2�# �<� �� ��!8�8� �%2 �������� � ��22� �%� ����!�# ��%= � �� � ��22�
���� ��� � �� ?%�22� �<� �� �� $� � 2� ��22���2� �� �����$!�>��<�3 �� ���
�$2� ������ � �2 �%� ��22�;�!���!� �8����!� �� 2�!� � �<� ��� ���%�� �� �
��� �!�������#  � �����  �B ���2%��!2�#  �B �� >�!��!2� Y333Z3 �� �� � � 
$!��� �� ��!� ���� ��� ����� �� �� �%�= �>>���%�!� % � ?%� ��� �� ��
% � !�$���!�:�� �# �� �=  ��� �<� ?%�2�����  ���!� �� �%�= � ?%� �!�# �� ���)
�� � ���%2�!� ��22� �!���� �# ����!���%!�# �� �%�= ������%�!� �2  ���!� ������3
��2� �= �2 ?%����� �<� <� ��!���� �22� 8���!� ���� :�� �13

���������� ������ ��2 $� �!�2� �� �%��� �= ����� ��� ���� ��22� 8���8�
� ��22� >�$2�� ��2 $� �!�2�# ����� � � ����2��� 
� �3 �� 2� ?%����� � !�)
$%�!�� �� ?%���� @8����� �!�8���1 ��2 �!����� �� ��2 
	�  �$2� ����� � ���
�� 2� ;�;� � ��� �!������� ����� ��2 
�4 ���8�� !���� % � ��� $!� �� ��)
���!� ��2 ���� ������3 �� 8�!��� � >�! ��� ��2 $� �!�2� �� �%���# ��� �22�
��������� � ���� � �<� �22� ��������� � ��!�$�# �= ���!� ��# �����$2����
� !���� �� ��!����2�!�3

�%���8��# �22�� ���� � ��22� �%� ������� �� :� � ��2�::� �� ���%��#
2�
@ ������� ��!� �%���� � U��<� $�� 8�  � �%!��� �� �� �%!��� �%22� �
��22� ������3 ��!�<�BK 9%���� >% 2� �%� !�������# ���$ ���# � ?%�2 �%;;2���
2� ���$$�� �  % �����" @�� !�>�!��� �� �$2� �!����2� �� ������ �� �� ��!)
8�:� ��2�8���8� ����!�� � ��>>%�� ��!� 0 . ��!:� '44* 0 �� �2�% � ?%������ �
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� ��� ��2�$��! �2� ��22� ��2�8���� � �� �����# ���� � �� 2� ������� �� :� !���
��22� ��!�8� �� �22� ��������� � ��!�$� � ���� .* 2%$2�� '454# !��� $� ��)
8�!��� �� >�!��!� ��������8��� �� 	5����	��� 
 ����	
 �
��������! ��� >����
� ��22� ��!����� :� ���C= ���� �� �� !�>�!���  �2 ��!�� ��22� �%������ �%��)
:�� � Y333Z3 ��2� ��!����� :�# % ����� �� �� �2�!� ��!����2�!� ��22� ��� ����)
��:�� �# �%�= ����!� �� >�!����# ��! �� ���� :� ��!���� ��$2� �88� ��� ��#
� �<� ��2 ��2�  �22� ��!$�� ��2�# �<� �!��!�� � ?%�� $��! � >% ������%���#
� %  �!��2� �88��� ���� �� � U��<� $�� 
�# ��2 ��2�  �22� 
�;�!��
���� ���  �22� �� ��� � �� ������� ��!� �%���� �$$�% ��1 ���22� 2����!� � )
8���� �2 ( ��!:� '44* �2 ���� �� ����� ��$$��!� ��22�	�!� �%���� -!� ��
���� �# �2 �!����� �� ��22� ��������� � ��!�$�# �� ���!� ��;�!� �%�2���!�#
�2 $�%���� ���!%���!� �����!�� �%��!�22� � �2 �%;;2��� �� ����!� ���!$��
�� ���!���/3

G G G

��8�!�� 
� �#  ��� � ��2>���� �2 '5 2%$2�� '4.*# �!� �� �<��!� �����)
��� �����2����3 ��$��� �2 ��!���� ��2 $�!�>� � � � !��%2��8� ���!����/ 0 ����
�� >�!���� ��22� ������ 
@ �� ���!� -�!���� 0 
� � �!� ����� %>>����2� ��2)
2�	�!� �%���� � ��2��� ��!�� �2� �� ����!� ��  �3

��$��� �� ����!� �22� ����� ��!� �%���<�# �2 $� �!�2� 
� �  �2 ��)
!���� '46,)'45, 0 � ����� ��2 $� �!�2� �� � ������# 
@ ���� ��2 ���� 	�)
!� �%���� 0 @�8�8� � ��!���� �� ���� �!� ��! 2�	2>� 	8�� 2� !�8���� � ���
����!� �<� �!� � ����� ���2����� �� �... � �$2� $�	����� ��
��
�43 0 9%����
��!�<�B @� �... �8�8� � �� ���� % ����!� � $2���# �2 ,�		� ,�B�
 0 �>)
>�!�� ������ � % � ��!!�$���!�� ��2 .4 ����;!� '44* !��� �2 $�%����
���!%���!� �!��!� 0 � ��%�� ��22���;�!$� ��	  �� �� >!� �� ��22� ��;��#
��! �%�  � ����8� � ����!� %���� ?%�22� �!�$� �2� ����% ��� ��3 ��	�!���2��#
 �2 8� ��!� ?%���� 8�2�8�2�# �8�8� ����%2��� % �� �!���� �� �� %�� :�� �
����!� � �%!� ��22�	2>� 	8��13

� �2 
	� �8�8� ��!��������� �� ����� �� ?%���� �����# �!��!�� ��! 2�
?%����� � ��22� �� %�� :�� � ��� ����!� ��$2� ��!��2� � ��! � ?%�2� �!�
�!�8���� 2� �%��!8���� � �� ��!�� ��22�� �� �%;;2���3 @	8� �� ��?%������
���!�::��%!� ��! ?%���� !�8���� � 0 <� �$$�% �� ������ 0 �8�8� � � ��!����
�� ���� ��!� 2� !�8���� � � �<� �$2� $�	����� ��
��
� ��22�	�!� �%���� ��)
2���!�13

)6# #5�+��
�� )������

� ��2�!� ������� �<� �!��� ����� �22�� ���� � ��22� �!�$���� 0 � �����
� ?%�22� ��2 �!�;�;�2� ������ �� ��!%��%!�2� � �22� �!��� :� � ;�!�� ��2

�4 ��2 2����� �� ��!�� 	>>���$��� 0 >% ?%�22� �<� !�$%�!��8� �� �� :�
�!�����# $�%���� ���!%���!� �!���� �2 �!�;% �2� �� -�!� :�3

��  ���:�� �8�8� % >� ���� �� �� 8�!���=" � >���� �!����� �8�8� �!�)
 ����� % ����� �%2 
�4 ���8�� ��!���� � ��2�!�� ��! >�!��2�::�!� % � ��)
!�� �� ����!���� �� �8�2�� ��22� ��2�:�� $�%��:��!�� �% % �!�>>��� �� �!��
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�<� ��22� ��;��# �!����� ���� � �� ��2���� ���# �8�8� ���� ����� ���!� �2�)
�� �� �� �!��� �� ��3

9%���� � ��$� � �!�2���8� �2 �!������� �� �� �2� � ��!��� �� ��;!��22�
	!$� ���!� R +6/# �>>����� �% ��2�$� ��2 $�%���� ���!%���!� �22��������!� ��
��2�:�� 
��� ��� ��!��2��# ��!��!� � �22����2� �� �� ��22�!��# %��2�::���
��� ��!!�!���� ���� ;��� 2�$������3 �2 .+ $�%$ � '45*# ��!�= ��2 $��! � �!���
��2 ������!�/ �2 $�%���� ������ �� �����!� 2� �!� ���:�� � � !� 8��!� �2 8��$)
$�� � ����2��3

�- ��  ��� ��2 ����� ��2 '5 2%$2�� '45'

�� ���� �<� 2� ��!�$� �� ������ ��!�;;� ��!�8��� �� % ���� ���� �� �!�
�2 $�%���� ���!%���!� �� -�!� :� 8�  � !��!��� � �<� ��2 �����# � % �  ���
� >�!����8� ������ '5 2%$2�� '45'" @�� ������ �����! �� �� :� �!����� !�)
8�2�= �2 ���� �� �!� �� -�!� :� Y�2 ��2�  �22� -���!�$� ��  %��� �� � )
����# ���Z �� ����!� >�!�% ����� �� �>%$$��� �2 ������!� �8� �� ��8%�� !� )
8��!�# ��! ��!����� :� >�!�%���# �2 8��$$�� � ��2�!�� $��= �!� ����� ��2 8�2�
� �$$���� ��2 ������!� Y333Z3 ��! ?%� �� �!� ���� �� ����!� �� % �  � ��2
������!�# 2� ��!�:�� �8!�;;�!� ���2%�� 2�������� ��22��8�!�� � �!�8�2�$����
?%�22� ��22��:�� � �� % �����2� �!��)�!�� � ��22� ������� �� % �!��$ � ��)
�������� � ;�!��3 	22� 2%�� �� ���= �!� ��!�� �� �����::�;�2� 2� >� �2���= �� % 
���� ���� �2 �%� �;�����8� ����8� 0 8�!�����2�� �� 0 ����!� 2��2��� �:�� �
>����� ��2 ������ ��$���!��� �22� ����� �� ;2����! � 2�����8���= � ��!��3 ��)
��8� � ����2���= ��2 8��$$�� � ����2�� ��2 ��$���!��� �!� � � �� ���� :� ��
% !���!����  %��!� �� ��!�� �  �22���;�� �� ��22� �!��%!� ��22� 
��%;)
;2���# ��22��>>���� ���!%:�� � ��2 �!�;% �2� � ��22� 
���� �� -�!� :�3
9%����%2���� %>>���� �!� � ��!������ � ?%� �� % �%� �2��� ��# $��= � ��)
!����� ��22� � ��$� � � ?%����� �# �8!�;;� ��8%�� �������$ �!� �2 �!�)
���� �� 2� ������ 8�2� � ����2��# ��! �����%8�!2�  �2 �!����$%� ��22�� )
�<�����3 ���2��� �� ��22� 
����# �%!  � >�$%!� ��  �22� 2���� ��� �����$)
$�!�# �8!�;;� �!�88��%�� �!��� �22� �!� ���:�� � � ?%� �� �22� �������� � 
% �!��� ���� �� ��! �2 ��2� ��$���!��� � �%������8��� �� � �<� ��! ��
������ Y333Z3 � ��2� �� ����� 0 �� �2%��8� 2����% �� ��2 ����� 0 ���!�;;�
� ��!�!�� ���� �
+�������� �� ��!�� ��� �� �� �� 2� ��>>%��� � ��22� >�2��
 ���:�� ��!�� 2� �!��� :� � ;�!�� ��22���!�� ��2  ��� ��!�� 	>>���$���13

�- �2 !����!�� ��!���

�% ?%���� 8��� �� 0 �2 '. 2%$2�� '44* 0 2��H ���� ��22� ��2�:�� �� )
�� :� ��!��� �� ��$ �= �2 $�%���� ���!%���!� �����!�� �%��!�22� % !����!��
�� ����� ��$� �  �2 ?%�2� >!� 2��2�!� �� 2�$$�" @�2 7 ��!:� '45.# 2� 9%���%!�
�� �!��� � ����!�= 2����� :�� � �% % �!����2� ����!�� �%2 ������� �2� @#5/�2
��+
�1 ��2 ( �$���� '45' �<� �� �� �8� % �� ��!8���� Y� >�!�� �� 	 �!��
�����!� �# ���Z �2 $��! �2���� ��;�!�� ���8� �# ��!����!� �� @ ������ (�2
���	
1# �2 ?%�2� �8�8� �8� :��� 2�������� �<� �2 
�4 �!��������� >���� �����
�;;���%�� �� % �����2� �!��)�!�� 2� ����� �� % ��!�� ��$ .(# ��! %�����!�
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% ��$���!��� �<� ��8�8� �!�8�!�� � ;�!��# �� �<�# ���� �!��� ��22� ��!)
�� :�# �8�8� !� % ����� �2 8��$$��3 �2 $�%���� 8� �8� � ��8��%���  �2 ��$�)
��!��� ���!%���!� ��2 �!�;% �2� �� -�!� :�# �����! �!�����# �<� ���8� � ��)
$� �� �% % �!�>>��� �� �!�$�# � >�!��:�� � ��2���!� �� �!�� �22� ��;��
Y333Z3 ��� ��!8���� �2 $��! �2���� ���8� � >%  %�8��� �� �!��� � �� ����!�)
:�� � ��22� 
�!�:�� � �� �!�2� ��22� ��2�:�� �� �!�8� :�� � �<�# �2 '( $�%)
$ � '455# �<���� �22� 9%���%!� �� ��2� � �� ����!�!� ����!���� �� � ��)
!��� �� % � ��$ �2�:�� � ��2�$!�>��� � 8���� �2 �� ����!� ��22�� ��! �# �2 6
$�%$ � �!����� ��# �� ��!�� ��� ��$!���!� ��2� ��� ��2 ��8��� �� ��! 2�
2���� �� �!� 2�� �����������3 � >�!����!� ��2 �����$$��# �� � -3 ��!8� �
-!� �� ��8�# !�;���8� � 2� 8�!��� � ���� �� 2� ?%�2� �2 ������!� ��!��
�!� �� ���!�;%�!� �� % ���� ���� � ��  � �2 $�%���� �� �� :� �!�����# ��)
��$ ���  �22�� ��$� � �% % �!�>>��� �� �!�� �<� ���� � �� ��2���� ���# �!�)
���� 2� ��;��# �8!�;;�!� >���� ��!8� �!� � ��!!�!���� ���2�� � �� �!��� �� ��#
%��2�::� �� ���� ;��� 2����2� �� �� ��22�!��13

-!� �� ��8� ���<��!�= ��� �22� ��2�:�� �<� �2  ��� �� � -3 ��!8� �!�
2�� �$!���� ��2 �%� ������  ��� � �<� �8�8� ������ �� ��>>� ��!� ?%�22�
 ��� ��! � �%!!� �2 �� ����!� ��22�� ��! �# 2� ������ � �2�!� �%��!���= � �!� )
��!� ��%= �%2 ��!�� 2� ����� �!����� � �����2�!� � ��$� � ��%= ���!�>� ���� � 
?%�22� ��!�:�� �3

����!� �%22� ����� �!�����# 2�
@ ��!����!� ��2 ���
�# 
����!�� ��2)
���� 0 ����2���� � ���� >�!��2� ��22� ��������� � �2 .6 $�%$ � '44* �7+T
���%��/ 0 �;;� � ���<��!�!�" @��2 '455# �2 ��;� ���� ��2 �� ���!� Y��22�� )
��! �# ���Z �� � 8�� % ��2�$!��! � � 8���� ��� ��$!���!� ��2 ����	 ��<�
��!�;;� �2 ��8��� �� ��! 2� 2���� �� �!� 2�� �����������/# % ��!�� ��!8�
�� % ��!�� ��8�# !�$%�!�� �� ?%���� �!$��� ��#  �2 ?%�2� �� ����333 �� !�)
>�!�8� �22�!� �� % ���%�� �� ��2 ��;� ���� ��2 �� ���!� �<� � �%� 8�2��
2� �8�8� !���8%�� ��2 ��;� ���� ��22� �!����� :�" E� �%� ����22� :� � �!�)
8�2� ��!���� 
� ����# �!����� �� ��2 �� ��$2��" �2 
�4 �!� � !���!��3 ��
?%�2�% � $2� �8�8� ���� % �$$%��� �8�8� ��8%�� ���� ��!2� � 2% $� ���%)
!� �� �2 ��!;%!� ��3 ���$$%��� ���!�;;� ����!� ����� �!$� �::��� ��! �2���)
 �!� % ��$���!���333E 0 ?%� ���= 2�������� ��2 ��$���!��� 0 E�2 $�%���� >��)
!� �� � �� �!�$� � ����2�� � �� �� :� �!����� �<� �8�8� �!�8� �� % �!�>)
>��� �� �!�� �!� 2� ��;�� � � ��!!�!���� �� �!��� �� ��3 �!����� ����8� �<�
������ ���!� =�	�����E�� � ;��;� ��!�;;�!� ����� �� ��$ ��� �$2� %��� �
�� ��;;��<E3 �!�# !���8%�� ?%����  ���#  �� �;;���� >���� �%;��� % ��)
�% �� �2 ����!���� �� ��22� �%;;2��� ���%!�::� � �2 �� ���!�13

�- �� 8�!��� � ��22� �!��%!� �� 
���

� �%;;2��� �� ����!� ����$ ���  �22�� ��$� � �%2 ������!� ��2 
�4  �22�
2�!� !�?%�����!�� ��2 (' 2%$2�� '445 <�  � �8��� :���� ?%� �� ��$%�" @���=
� �!����� :� �2 $�%���� �!� ����� �$$���� �� % �!�$���� �� ���� ���� ��
��!�� �� �!��� �� ��# � ��� ���� :� �� 2��������� ��2 $�%���� 	2���� )
�!� � Y�>!3 ������2� �� 0 [ 63 #5
�
�����
 �� ��������� ���Z# �<� � 8��� >%
�>>����8��� �� %����� �2 .4 $�  ��� '4643 ���# �  ���% �!������� ��# �=
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���!�� �2 ;� �<�B �� ��� �2��� �� �<� ����� >�! !��� �!� �<� ���;!� ��2)
2��!$� �::�:�� � �!��� �� �� �8����!� � � ��� �� %��2�::�!�# ��! %�����!�
�2 �����! �!�����# ��::� ���C= �2���!��� � ����2�� �� ���!� �� �22� �!�$��)
�%�2���= �� ?%�22� �!$� �::�:�� �13

9%���� 8�2%��:�� �# ��!�=# �!�� 2� �!������ ��! % � ��!!�$���8� ���;)
;2�$�" ��!�<�B � �������� �� ?%���� ��������� ��;���$$�� 8� $� � >���� ����!�
��2�� �� �% �!��� �� �� �  � # ��! �������# �%$2� ������ ���� � �� ��2����)
 ��� � 2�;��� ��� 8�2�� ����!� � ?%�22� 8��� ��K �� ?%���� � ��$���!���
 � 2� ����$� �3 � ��� �$$�% $� �" @�� 8� �� � �% ?%� �2��� �� �<�
�� �� �� � �� � ��8��%�!�  �2 �����! �!����� �2 ;�!��$2�� �!�$� �!�� ��22���)
�� ����3 9%���� ������� 8�� � !��!��� �� ��  %��� �� � ���� � �� ��!�
��2 �%��� � ���2�3 � 8��� �� >�! � �$$���� �� ��$ �2�:�� � >�!��2� � �� ��)
��!���� ��# �$2� 2� �%$$�!���� � �� ��!� � � ���# �!��� �� ���� �����
>�2��  ��� � �%� $��! �2���� ��!�<�B 8����2����!� 2�  ���:�� � % �� �����
�� �%$$����� � ������� �� 2� � ��$� � ;�2�$ ���3 �� �� �= !�%����� � � ��8�)
�%�!� �� ��!��::� �2 ���� �� � �%� ��  %��� 8�  � � �� ���� :� ��22�
8��� �� �!�����3 �$2� �>>�!�� �� �8�!2� ���%�� ��!������ �� ��2 $�%���� �
� �:��2�� �� ���%� 2�� �� �!�  �22�����;!�) �8��;!� '45*3 � ��$%��� ������
2� ���� �2 ��$$�� '45'# �� � �<� ��2� �������� ��  � �= �!���;�2�# � �<�
��!�<�B � �� �!���� �� �2 !���!�� �� �!�����# �<� ���%� % � �� �!� �� )
8�8��2� �� ��  %���#  �2 ?%�2� �� ��!2�= ��22���������# � ��! � �22� >����
�� ����2� '45* �>�!��  �2 $�  ���/3 ��2� � �� �!�# ��!�2�!�# ���� �� 2� !�)
����!%:�� � ��2 ��  %��� ��!�;;� �����  � �2 �!���# �� �2 ���� ��  �2
?%�2� �� ��!2�= ��22� �!� ���:�� � �������� ��2 �!��� ��!�;;� �88� %�� ��!
��!���/3 ��!���� ��# ��  %��� �� ��$ �= � �!�����# � ����� :� �� �����
��2 �!��� � �� �!�# � �<� 2� 2���� ��� �!� ����� � ��22� �������� � �<� �2 �!�)
���� <� �� ��$ ��� � ���� �� ����� ������� ��2� Y333Z3 �<� �2 ��  %���
>���� $��= � �� ���� :� ��22� 8��� �� ��<� ��!�2�!� ��8�8� ��!��2�!�  �$2�
��;�� �� $�%��:��!� >��!� �� �#  �� ?%�2� ��  %��� �!� ;� ���� �!�# $���)
�<�B �2�!� � �!����� ��8�8� � 8��$$��!� �%2 
�4 � �<� �2�% � ����%>>����2�
� �%��� ?%����  � ��!2�!� � �!� 2�!� � �� �2�!� $��=  �� $��! � ���������)
�� �� �%������8� �2 >����/ ?%� �� �� � �� ��22��%�%  � '45* !��%2�� ���
��22� ���<��!�:�� � �� ��;�!�� ��;�2� Y%>>����2� ������� �2 ���� 	�!� �%)
����# ���Z# � ��  %��� ��2�� 2�$��� � �<� �� ?%���� ���!��� �� % �����;�2�
��22�$��� �� ��22� ����!%:�� � ��22���!�� ��� �� �2 !� 8� ��� �� ��2 ��$
.( �<� �� 2� �%������ �!��� :� ��2 $�%����13

� �� �2%��� �# ��! 2� �%;;2��� ���%��# �2 ���� �� �!� �� ��2 �����
�� -�!� :� ���  %��� �� � ���� ���% ��/ <� ���% �� % !%�2� �� �!���
��� � � ����!�� � �� @ �22�� ?%� ��� �� ��22� � ��$� � �%22� ��!�$� �� ��)
2�$ �1# �!���2� �� � >�!��:�� � >�2�� �2 >� � �� �����!� � ��!!�2�:�� �
?%����%2���� >���� �� �2 ������!� ��22���!�� ��22����8��3
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!"�7 �7� ���.�"�" ..

�'/ 
�22� !�2�:�� � �%2 ������!� ��!�� ��2 .6 $�%$ � '45* ��2 $� �!�2� -!� �� ���� �#
���� �� ����� ��$$��!� ��22�	�!� �%����# �� ��$ ��� �2 '. ��$$�� '454 � ��2�!�� �� � �#
�� ���!� ��22� ��>��� ��2 .5 2%$2�� '456 �2 .' 2%$2�� '454" @'/ 0 �2 ������� Y�� �� �!�22� ��2
�!�>>��� ��!��Z# $������ ��22�	�!� �%���� ��2���!�# �= �!��������� ��! �� �� �!� % �!�� ��� �
������� >2%��� �� �!�>>��� � �!�8� �!� ��22���� � �!� ��!���;�2� � ��!!� � � 8�2� �� �= !�$�2���
��22�  �!�� ��	� T8��
��������	  ���	 $������� 1����������� D �� 8� :�� � �� �<���$�
��2 '4,, !���>����� �� 2�$$� ��2 '6 ��!�2� '47+  S 7+' � !�2���8� �  ����  � � ��!� !���)
>�����# ���U� 	2�!� >� �2���= ��2 ������� �� � ?%�22� ��  ���� �22�������� :� �����!�2�$���# �2
��!8�:�� �� ������� :� � 8�2� �� �2 ��!8�:�� �� �����!�� ��!��3 ./ 0 �� ��!%��%!� ��2 �������
�= �!����2��� � ?%���!� �� �!� �� �� �!�22� ��2 �!�>>��� 	�!�� � ��22� � >�!��:�� � 	�!� �%)
���<� �	��)-��/3 �� ���:�� ��!�� �= !���!���� � " 0 ���:� ��!�� �� �!�22���# �<� ����!� �� �
2� ��!�8��# 2� !�$�� � ��!�� �2� �� �� �!�22� ���	/ � 2� :� � �� �� �!�22� �� �88��� ��� ��
���
/ Y333Z3 (/ 0 �$ � 8�2�8�2� � 8�2� ��8� �� �� �!� ����� ���� �� �2 �� ����� !���� ;�)
2���!�2� �� 2�� �� �� �� �!�22� ������� �� ��! ��!!���!��# � ���� ��2� �� ����! ����!� ���)
�!� ��$%��� � �$ � >��� ��2 8�2� ��2 ����22� �22�����!!�$$��3 �%���8��# 2� ���:�� ��!�� �2 ��
���!� ��22� ��?%� � ��! �:�� �2� >!� 2� �� ���2� � 2� ���2� ��$$��!� ���!�;;� ����!� � ��!��)
���� �� �!�>>���  � �� �!�22���# �� �� �� ��22��!�3 ( ��22� ������ �� 8� :�� � �� �<���$�# �<�
�!�8��� 2�  � ���2���:�� � ��22�  �!�� ��22� �� 8� :�� � ������ �$2� ��!���;�2� ��2���!�#
�� �����# �� ��$� � � ��2�:�� Y333Z3 �2 �% �� �� ���!�� ��� (4S ,(�� 0 '.S 77�� Y��� ���<�#
?%� ��# �22� ���!�� ��� ������  �22� !�2�:�� � �!�2��� �!� ��22� ��������� � �%::���� ��2 ('
2%$2�� '45*# ���U D �% �� �� ������!�� ��2 
�4 ���8�� ��$2� ��<�!�� ����� 0 �= ����� � 
% � ��!�8�� ��8!���� �� 2� ��?%� � ��! �:�� �2� �� �=  �22��!�� �� $�%!����:�� � ��22�	�� ��

���3 �= �� ���<� ��$2�� �2 �� >%�!� ��22��!�� �� �� �!�22� �����" �� ��2� 	�� � ?%� �� ��)
��� � �!�� �� �� �!�22� �!����%!�2�3 �%���8��# �= % �% �� � �%� � ����� ��!�� � � ��2� ��
�� 
��� �� �!�22�# ��! 2� 2�!� ��!����!�����<� ��� ��<� ���!��<�# ���!�;;�!� � ��!� !�2�8�!�
2� �!����� �� % 8�2�8�2� � >% :�� � ��2 ���� � ��22� ?%��� � 8�2�13 �2 ������� �� �88�2�#
?%� ��# �� �%� ����!��� ����� ��� >�;;!���:�� � ��!�� � � ��2� ��/ ����:�� ��� � -�%���� �
� �%� ����# �!����� �� �� !����# 8� $� � �!������� � ������ � ��! ����!� !�$���!���3

�./ 9%���� �  ��� ��22� 8������ ����2%�� � ?%���!� ���;!� ��22��?%���$$��# $��= ������/"
�� :�� 	 �!��# �%�$� 	 �!��# -!� ����� ������ ��# ���2� �� ���# 	2;�!�� �� >�����# 	2)
;�!�� �����# ��!�� �� �� :� ��2��!� �# 	 �� �22� �����22� �# ��%����� �����!��� ���)
!�;� ��!� � >�!:� �2 ��� ;����$2�� � �� ���8�� 0 �:/# 	! �2�� ����� � �# 	 �� �� �� ���#
���8�  � ��!���# ��!�� �!�:�� �!���# -!� ����� 
�	2>� ��# ��28���!� 
�	2>� ��# ��;�)
���� � 
�	2>� ��# ���<�2� 
�8C=# ��%����� ��2�$�!� 
� �����# �28�!� 
� ����# -!� �����

� ����2�# 	 �� �22� 
������# ��%����� 
������# �� �� :� 
������# ������� -�2����# ����
-� �� �# ��!��2� -%22� �# 
���!�� -%22� �# ���� ��22�# �%�2>� �<�!�!��# 	 �� �� �!���#
��!�<� �!%;�!# 	 �!�� �%�!� �# �� �� :� �%�!��# ������� �%�!� � ���!�;� ��!� � >�!:�
�2 ��� ;����$2�� � �� ���8�� ) �:/# �!�:��22� �%�!!�# 
��� �%::�# ��%����� �� �<� �# ���)
�� � �� 
����# ���2� ������# ��!�� 
���!�� ������# -!� ����� �%��# ���8�  � �%��# ��%)
����� �� ����# �2�%��� ��!�<���# 
� ��2� ��!>���# ��:�� � ��!>���# �!��� ��::�2# 
���
��::�2# ��!�� 	��% �� ��$ � �# 	  � � ��2�� �# �%$2��2�� ��!!���# ��!� :� � $�!�#
���2� ����# 	2���� �!� ��!���# -!� ����� ��!!� �22�# ��!2� ��!!� �22�# 	  � ���2� ��22��)
��� �# 	 �� �22� �� ���<��# ���8�  � �� ���<��# ����� � �� ���<��# ����� � �!����2��#
	 �!�� 
�� �# ��%2�� 
�� �# ����� :� 
� �<� �# ��!��  � ��!��%��# ��!�� �2� � ������2�#
��%2�� � �%��!�<�# 	 �� �� ��!!��# ��%2�� ��!�� �� ����� �!������ �# ���!���2� �$�2� �#

� ��2� ��2� �� �# ��%����� ��2� :�# ������� �� �%!�# ��!�� ��2� ��# ��!�� ��2��#
	2���� �!� �� ����# ��� %�2� �� ����# ����2� �� ����3

�(/ �����8��# �% !��<����� ��2 �%;;2��� �� ����!� 	2�� �%�!� �# �!������ �2 ', 2%$2��
'45* % �2� �� �� 2� $� �!�2���= ��� ���� �� �� � ��)��2��� @�<� <�  � 8�2��� �%22���!�)
��;�2� 
�4 �)����  �2 ��!���� .+ ��!:�).6 $�%$ � '45*13 ��22� 2���� �����!� � >����
	�!�� � �!��2� �#  ��� � 
��� �2 '(  �8��;!� '4(43 �2 4 �$���� '45*# ���� ?%� �� 2�%)
����� ��22�� ��!8���� �% @#� ,
+���	���1 � % � ������� � ���� 2� ��!�$� �� ��2�$ �# �2 ��)
�� �� �� �!��2� � 8�  � � ��!�::��� % � 2����!� �� �� ���� �� ��!�� ��2 �� �� %�� �!��)
����" @�� 2�� <� !��!������ ��8� �� �� ��$���!��� ?%�22� �<� <� �>>�!���� 2� >�!��� >%�!�3
�� 2� ��!��� �2 ����� �<� >����� 2� ������ >� � ��� �%�� ��22�$<�3 
��� �22����8�� �<� �=
�%��� % �	��� 2� >���� �� ��22� ����<� � ���!��� � �<� �8!�;;�!� >���$!�>��� �2 �% ��
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�,/ �� �>�!� ��!!���!� �= ����� �%���8��� � % $!�$2���� >�!���� �� (+* ��!���� � � '5*
��!�22�2�3 �  %��!� '5* � (+* �� � ����� !���8��� ��22�  ��������= �� ���!�!� �� �!�<� �� ��!)
�<�� ���!�� >�!� :� � � $�2�/ ����= �� � ����= $�����!��<� ��>� �;�2� � $!��� �S/# �!��� ��/ �
���� �� ���/3 �� �%���8���� � �� 8� :�� �2� ��� ��!�22�2� �= ��2� �<� ��  � �� �� � 4*  �2)
2�����>�!� ��!� � 4*  �22�����>�!� �%�3 � ��!���� �# � 8���# ����� �� ��! �2 ��2� ��!� �
��2� �%� ��� � � >���� ������!�<� �������/# !��%2�� � ��!�� ����2�!� �� ��!�22�2�3 �2 ��!�)
��� � �� !�>�!��� �� �= ?%�22� �<� ����� ��! �!�� P��< ��� �!�/" ��!���� � *3 �$ � �2����)
�� �� �� ������ �� � �� �!�� �� !������� � ?%����# � ���� % �% �� �� ��� � �8���3 ���� �2
����8� ��2 ��� 0&�

�C��� �
�� )��
- �% ?%�3 �� % ���= �� ���%!�# ���� �� �= �����#
�� � � $!���# � �!��� � � ���� ��3 � ����� ��!!���� �� � +* ��$2�� ��!� � �% ��$2��"
'57'#57 ���!�/3 � +���� ��!!���� �� �� % ��$2�� � % �
����� � (*# 5+ ���!�3 
��2�!�
��!��# �2 ���!� 2� ��!� �= ��>� ��� ���� 2� ,*��2�� ����� ��!�� ��22� ��!�� >�!� :� ��!!���!�
��22��?%���!� ���%!� ,* ��2� �<�2����!�/3

�7/ ����!� ��22� 
�2�:�� � ���� �" @./ 0 ��! ����28�!� � ������� ����$ ���# �2 �������
�� 
�>��� 	�!�� �= ;����� �% �� �!� 
���! ���2����� ����!�% ��� �� �%2 ��!!���!��  �:�� �2�
�<� >�  � ���� � �%� �� �!� ���!���8� �� �����!� ����/# ���%��� !�������8��� �� � �� ��
�� �� �'S ���/ � ��!�� � -!� �� �(S ���/# �!$� ����� �� � >������� �� � ��!���  �� !�)
������8� ���� �� ���!���8� �� 
�$�� � �
��/3 	� ��� >�  � ���� � �<� � !���!�� �� � )
��!�����!� ��2����� � ��2�$%����� ������2�/# �2 �%� �����$� �� >� � ��22� ��!8�$2�� :� �= ��������
��22� ������ ��� �# ��! �%� ��2�$�# �� % �� �!� 
���!3 
�� �� �!� 
���! � ?%����� �
�2�% � ���!� � � �%������::��� �2�!� � >� ����� �� %�2�3 ��� �� �!� �%������::��� 2� $�)
 �!�:�� � ��22� ���;�2�$�� �� % � �!����� � 2� !�$���!�:�� � ��22� ������ �%  ���!� �88� )
$� � �%���������� �� ��2�  �2 ���� � �%� �2 ����� �;;�� !�2�8��� �2�� � �� ?%� !���! �
2� �%� ����:�� � ��� � �� $!%� �� �� ?%�22� �� % �$$���� 8�2� �� �� 8�2�����= ����!���
�!� � 7*  ��� � ���< ( ��� ��!�� 4* O� � ��!�� (.** O� �!�/3 9%���� !�?%�����# ���� �%��� �
�� �!� �%������::��� ��22� �	��# �= ����%!��� ��22� �� ����  ��������= �� �8���!� �<� 8� ����!�
�!��� � �� ����!�:�� � � !���! � �����# �;;���� :� >!�?%� ��# ��8%�� �� ������2� >���� �D� !�)
��! � � ���2� ��22� �!���$�:�� � �����" �!���$�:�� � �<� 0 ����  ��� 0 8�!�� � >% :�� �
��22� �� ��:�� � �����>�!��<�3 �!������ �� ?%�� !���! � �����# ���% ?%� ��>� ��� ��	�� +	����
�<�# �8� �!��� � �� ����!�:�� � ��2 �������# ���!�;;�!� ��%��!� � %��2� �22�!�� �22� 
�>���
	�!��3 ,/ 0 �2 �� �!�22� ��22��!�� ��2 ����� � ����� ��!!� � !���2� �22� ������� :� ���
�� �!� 
���! �� ����2� � ��!��2�3 �� �!� ?%����%2���� �= �� ���� �%������::���# �2 �!���
���!� � ���� >� �����)�� %�2�3 �� ��>>�!� :� >� ���� ��2� >!� 2� �%� ����2���= �= 2�$���
�22� �!��� :� � �� � �� ����!���<���%!� �� �2�;�!�:�� � ����3 �= ���������# �% ?%�# 2� �� )
�����:�� � �<� 2� ���!�:�� � �8�2�� � ���� >� ����� �� %�2� �� � ��$$��!�� �� ��$$����
�� �!!�!�# ���!������ � �� ���!������:�� � ���%��;�2� �2 >����!� %�� �3 �� ��!����2�!� !�)
>�!��� �� �22� :� � � �%� �= �88� %�� 2�� ���� �� ��2 
�4 ���8��# �� ����!8� �<� 2�� ��$!�)
:�� � ��22� ����!�%!� ��� ����� ��� ������ �� �!� �= ��2� �<� % 8����2� �� 2� �� ���� 
�4 �%�=
����!� !�2�8��� �%2 �% �� (4S ,(�� � '.S 77�� >� � �� % � ?%��� �� ��� �� 53*** �����#
�� �!� % 8�2�8�2� �� ������ �� :� ������� �� ��� ��>���:�� � �%22� ������ �% �� �= �2 2�����
��22� !�2�8�;�2���= $��= � .73*** �����3 ���= � ?%� �� 2� 8��%�2� ��2 �� �!� 
���! �� ��!��2�
�%2 �% �� � ?%����� � �= ����!������ ��22� �!��� :� ��2 �� �� �!���3 �88���� �� � 2�����
�� !�2�8�;�2���= �� � :� ������ 8�!�� � �� ����!�8�2�� �� ������ ���� ��2 �!������ �% ��13

�+/ ����!� ��22� 
�2�:�� � ���� �" @� ���� �� � ���� �� ��!�� 2� ��!�:�� � ��22� ���)
!�:�� � ������� �22�	�!� �%���� ��2���!� �� �� �� ��2 ���!���)2�$$� 'S $�%$ � '4653 ./ 0 �2
��!!���!�� �� !���� ��;�2���= ���2�� � �= !���!���� � �%� �!�� �<� >�  � ���� �� �%� $��= �� )
:�� ��� 
�� �<� ��!�$� � 2� ���!�:�� � �!����� $2� 
��# >������� �� � ��!���  �22� ������
���� ��� 
��# �� � ������� �!� �� ���!�� ��� �� � �����!�� �
��/ ���%��� � ������ �
� ��$2��!� �� % � �!��!�� �!�� �� ������� :�3 (/ 0 �2 �% �� (4S ,(�� '.S 77�� �=  �22��!��
��2 
�� �� ������ �# �<� >� ���� � 
�� �� ��!�� � -!� ��3 �� �!� ?%����%2���� �� �!�
 � ����� � �� ��::� �� ���% ���:�� � ��� � >� �� �� $2� ��!���;�2� �����$���  �22�
���!�:�� � �� �����!��# ��2� ��::� �� � � 8��� ����� �;�2� �!���� �2 
�� �� ������ �# %;�)
����  �22� ������ ���� ��2 �� �!�22� ��2 �!�>>��� 	�!�� �� 
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;2��<�# �22� 2%�� �� % ����2��� ?%��!� ��� ���� $��= � �������:�� � � %2��!��!�� �� ��?%�)
��;�2� � ����� � ��! �:�� �2�1# !�2���8��� �� �22� ����$%!� ��!�� ��2 .6 $�%$ � '45*3 	
�!������!� 2� ��������� � 8�  � ���2�� �2 �����! ��!2� ��!�� �!����# ��$���!���# 
@ �!���)
�� �� ��22� ��!�� ������%:�� �2�3 �2� �2�!� ����� � �� �!� �" � $� �!�2� ��� %�2� 	  � � �
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���;!� '455 � 2� ��!�� �= �2 '* ��$$�� '454# $��! � � �%� �!��� ��= �2 �!����� �� ��2 �� )
��$2�� 2������ ��2 �%� 2�8�!� ����� >�!�� �� �2�;�!��� ��2����>����� 
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�� �!� ?%���� ��������� �" @���� �!����� �� ��2 �� ��$2�� �� � ����� � ��!������ % �
�!��� 8�2�� � ?%���� 8��� �� ��! % � !��<����� ��2 ��$���!��� �%��!�22�#  �2 ���� �� $�%$ �
'455# �2 ?%�2� �<����8� �� 2�;�!�!� �2 $�%���� ��2 ��$!��� �� �����3 ���� $�8�! � ��2�;�)
!���� �� ����$2��!� �2 $�%���� ��2 ��$!��� �� �����3 � ��$%��� �22� �!�������� � �� % ��!)
8�:�� ��2�8���8�# �!��� �  �8��;!�# �<� ����;!�8� 2�������� ��2 �����2�# � �<� ��! 2� ��)
��%���� � �<� � ��!��!�# �<������� �2 �� ���!� ��22� ��>��� �� !�>�!�!� �2 �� ��$2�� ��� ��)
 ���!� �!��� �� !���� ��!� � ��!2��� �� Y333Z3 �% ?%���� ��!����� :� �� ��!C= % � ����%���� �
 �2 �� ��$2�� ��� �� ���!�3 
���%����� �� >���� �2 ���� � �� � �� ��! 8��� �� % � %2��!��!�
��������� �3 �� �2%����� ��! 2� ������%:�� � ��22� ��������� � 0 �� >% � �<� 2��;��)
:�� � �<�# � �� �� :� �� % �!������� �� $�%��:��!��# �!� � %��2� ��! 8��� �� % � ������)
��� � ���� ���!���8� ��� ��$� � 0 �# ������!�� �� �2 ��$���!��� Y�� �!���� � 8��� ��2 $�%)
���� ���!%���!� �����!�� �%��!�22�# ���Z �<� � ��$�8�# �� !���  � �<�# ���!�8�!�� 2� ������)
��� �# �� �������!� ��?%���!�  ���:�� �� ��!�� ��$2� ����� ����!�# ���� �<� ��!�;;� ����� ��%=
��>>���2� �� �2 ��$���!��� �� >���� ����� �� ��2�# �%�� ����� ��1 Y�%��:�� � �� ��!����

� ���� ��2 ',  �8��;!� '44' ) 47T ���%�� 0 ��������� � ��!�$�Z3

�5/ �2 .4 ������;!� '45*# � ���;!� ��22� ��������� � ��2 �� ����!� ��� �!����!��
�!�����%�� ��22�� $�$ �! ��!2� �%::����# � ����� �2 ������%�� �!��%!���!� ��22� 
��%;;2���
�� 
��� ���!$�� �� ���!���# % ��� ��� ��22� ��2� �� �� % � ��22����8��# �� !���!� �  �$2�
����� � ���# �!���� 2� ���� ��2 '������	 )����+�������� (��
�B ����� �����/ �� U��<� $)
�� ��! �8�!� % � @8�2%��:�� �1 �%� ���� ����� !�2���8� �22� !���� ��2 
�43 �� ��!�:�� 0 �2�)
;�!��� ��22� � >�!��:�� � !���8%�� ��2 $�8�! � ���2�� � � ��22� ������ 
�%$2�� 	�!�!�>�
����� L � �� ��$ ��� �2 '(  �8��;!� '45* 0 8�  � �2�;�!��� ��22�� $�$ �! I�< ���
��%22 ����!�� ��2 ���
�� �� )
����	��B ��2 ����3 �%22� ;��� ��22� @8�2%��:�� � � �2�)
����)���������<�1 !�2���8� �� ���� !���! ��2 �!�>>��� 	�!�� �
��� ������ �/# 2�����!��
���!��� � �!!�8�= �22� �� �2%��� � �<� �2 
�4 �� ���� ��$!�= � 8�2�3 � % ���� �� �2�;�!���
0 ������ .7  �8��;!� '45* 0 ��� ��%22 �$$�% �� �<� � �!��������= ��22� %2���� ;���%��
����� ��2 
�4 8� �!� � �2�!� �!���� �<� � ����8� � 2� �!��� :� �� % @�$$���� 8�2� ��
 � ��� ��>�����1 �<�# �� !���� �!��� ��!�22�2� � ��� ��!�� ����2�!� �8��� 8�!�� ���# ���8�
���!�8�!�� �� �� �2�� 8�2�����= 2� ������ �!�� ��  �22� ������ �!�� �� �����/ � ��!������ �22�� )
���� �� ��22��)����3 ��!�8�8� �2 ������%�� �� ���!��� ��� $��! � �!��� �� ��!��!� ��! U��<)
� $�� " @��2 ?%��!� ��22�� �<����� $�%��:��!�� !�2���8� �22� 8��� �� � �$$���� Y������!� ��)
!�� 
�4 ���8�� ��2 .6 $�%$ � '45*Z# � ��!�� �� ���!%:�� � �����!�� �!���� �2 ��� %>>����#
�� � �!�8���� � ��!��!� �� ��!���C= (* ������;!� �383 % � ��!�� �� � �� �!� � U��<� $�� 
������ � ���/ >!� � ���;!� ��22� �!� ��������� � �� � �<����� �<� �� � ��!���� � ��2 ������!�
�?%�22� ��� ���)>�!��2� ��  ��� � �� ����!��2�# ?%�22� ��22����8�� � �2 ��22�$�� ��� ��!���  �)
�� ��� ��2 ��$���!��� � ?%�!� ��/ �22� %
�
��	 $������� $������������� �-		/ � �2 '������	
)����+�������� (��
�B ����� �����/# �<� �= �2 ������� �!$� � ����% ��� �� �<� 8�$�2� �%22�
���%!�::� ��� �!����!��# �22� ����� �� 8�2%��!� 0 >�!�� !���� �� 2� �����;�2���= �� % �� �!�22�
� �!������ �>>���%��� �!� �� �� 2� ����� ��� ���� �22� ;��� ��22� !�$���!�:�� � ����� 0 2�
��8�!�� ������� ����%!��� ��22� 8�2%��:�� � � �2�����)���������<� ��� !��%2���� >�! ��� ��22�
�������= ��2� �� � ��!����� �� ����>!�!� � ���� ������13 � ���<� ��!�2�# �� ��� ��� ���!��� �
��2 -		 � ��2 ���� 8�  � >�! ��� % �!������� ����� !���8��� ��� ���� ����>!��� ��22� ��)
2� ��3 �%���8��# 8���� 2� ���!�������<� � �� $!%� :� �!� 2�%2���� �% ��  ��� ��22���!�� � 
8�2� � 2� ���!�� ��� $��$!�>��<� !�2���8� �22� :� � ��8� 8�  �!� !�������� � ����8�!� ��22�
8������ � �2�% � !���� ��2 
�4# ?%�� ���� ����� ���!�;;�!�  � ����!� ���� ��;�2� �2 '** ��!
�� ��3 
��2�!� ��# ��$2� ���!�� �%22��!�� � ��� (* � +* �<�2����!� � ��!�)�8��� !������� 2�
:� � ��22�� ���� �� �2��� �� � ?%���� �%;;��" �� �!���� �$$����8� �� ?%�����!�� � �� $!� )
��::�# �� �!��� � ��!�� �� ����!�:�� �# !���<�� � �� >�! ��2��!� �%��� 2� ��!��::� �%22� !�2��)
�%!� ��22� �!������!�� ��2 
�4  �$2� %2���� ���� �� �!��� ��22� �!�$����3

�4/ ��!$�� �� �>����# �!����� �# �2���� '4,,# <� ���C= !�����!%��� ?%� �� ������� ?%�22�
 ����" @9%�2 $��! � �!� ���� ���� � ��!8�:�� �� �22�!�� ��22� 5 ��2 .6 $�%$ � �22� 5 ��2
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.5 $�%$ � '45*3 �2 ��!8�:�� �� �22�!�� �� �����8�  �22�����!� �!� �� �2 ����22� � ����� �!�)
>������ ��! ?%�2�����  ��������=3 ��!�� 2� ..#.* ��!�� 8� �8� �88����� ��22� �� �!�2� ���!�)
��8� ��2 (*S ���!�� �<� ����8� ����!� �<������ � ������ � �� �����!�� ��!�<�B % 8�2�8�2�

�4  � �8�8� !��������� � ����� �� ����!!�$$�� �  � !���� ��8� �22� �<������3 �� � � )
���� �%;��� � ��2� ���!���8� ��! ��$%�!� 2� >��� ��22� �8�2%��� ��2 �����!�� � 2� �!���!�)
:�� � ��22� ������ �3 	22�� �:�� �% ��� 8�2%��:�� � <� �� ���� �� ��� ��>���!� 2��!�� �<�
�8!�� ��8%�� ���2�!�!� � ��� �%������8��� �� �� �2  �8�$���!� � �� 2��?%���$$�� ���!�$)
$�% �� �������� �� '( ��!�� � �� ����!��� Y���!� ��  �# ��� >!� �� 
�::�# �� �!�
��  �# ��%����� ���;�2����# ��%����� ��! %����2�# -��!� :� ��$ �# 	2���� �!� ��$�::�#
��!2� ��!;� �# ��;� � �� ��# � :� ����22�# �2�%��� �%�� % � �� �� :� ��2��!�Z �;;����
�!���!��� �%��� �2  ������!�� ���� � �� 8�2�# �������:�� � ��! 2� !���!�<�# �����$� ��2 ��2
���/3 �� !���!�� 2��!� ������ �� ����22�# �!��� �<� >����!� 2� .#(* ��!��3 ��% $���� �%2)
2��!�� �!�>������ � �%� ��2 +����  ����� �� � �:����� 2� !���!�<�3 �2 +����  ����� �= �2
�% �� ��22���!�8�� ���� �2 ?%�2� �= ����� ��!�� �2 �� ����� ����� �� �2 
�43 	;;���� � 8�)
���$��� ���= �<� ����!�8� �%2 ��!�  �22� :� �# ��� ��>��� �� ����!���%!� 2� ��!���� ������� �%
;%��� �� �2������ �� ���::��%!�# �� �� �!�8��� ;����# � ��!�� '** ����� ��2 ��!�# �� :� � )
��8��%�!�  %22� �<� ������� ����!� ���!�;%��� �22���!��2� �3 	22� 6 ��2 .5 $�%$ � '45*# % 
�2������!� �<� ��!������8� �22� ������ � �� �����!�� �� <� �<������ � �� <� ����� �<� ���8�
2����� �� % � :� � ��! ��!�� � ��22��%�� ���� �� ��!;%!� �� � �<� ��!8�2�8� % �% �� �%2
?%�2� �!� ����!�� �%2 ��!� % � ����<�� ���2�� � �<�!��� �3 �� >��� ��!��!� �� % >%��)
$� � � �� ��!���� �%2 �% �� �8� $�% �� ���� �!� � ?%���!� �� %��3 ���� 2� �<��::� �� % �� � 
�%��!>���� �� >�!�� ��!��2�!� �� ��!�� 7* ���!� �� 2�!$<�::�3 �!� ��!��2�!� � �� �2 �����!�
��2 ����� �� �22% $�=  �2 �� �� ��2 8� ��3 �2 �<� �� �� >�!��8� �<� �!� %����� �� ����3
�� �� �!�� 2� ��� !���!�<� �%2 �% ��  � !�2�8� ��  �� �� � �%��!>���� �2�!� 2� ����<��
Y333Z3 
��� ��!�� % ��!�# �� � �>>��!��� �%��� �# ����2� � ��28�$� �� �$� >� ���!�;%�;�2� ��!�� ��
�22���!��2� �3 
� ?%���� ���� �� <� ���!�;%��� ���= �<� 8���8� �22���!��2� � ������!��#
�88�!�� �� 2��:�� � ��2���!� �� �� �!�22� ��22����!�:�� � �<� �� �!����8� ��� !���� ��2

�43 ��!�� % ��!� ��%= ��!��# ��!�� 2� 4# �� � �����!�� � �!��� �%� ����8�!�# %��� �� ��22�
����<�� �2����3 -%!� � �88������ ��22� 8������ � ��!��!� ��22�$�	����� �<� ����� ����!���%!�
�<� �2 ���� �� �� ��8� % � $��;�3 �� 8��� ��� ����8�!�  �2 �����$$�� �%������8�3 ��� 8��
����!� ��22� ������ �% �� �� � �>>��!��� ����8�!� �� � �2  %��!� �� (6 Y333Z3 �%2  %��!� ���
����8�!�  � �� � ��!�� ��!�<�B �� �$ % � � �� � � �� � ��$ �8� �2 ����� � 2��;;�$2��)
�� ��13 ��%����� ���;�2����# ������%�� ��2��� � ������ � �� �2 ��
��
� $�	����9�
 ��)
�� ���� �� �� �>����# <� �$$�% ��" @	;;���� !�$$�% �� �2 >%��$� � �� �;;����  �����
2� �<��::�# �<� ��!�= �!� ���� � 8���;�2�3 ����� !������ �%22� :� � �� �!;���!� ��! % ��!�#
% ��!� � ��::� � Y���Z �;;���� ���� ����� �  ���!� ��$2� �$$���� �<� 8� �8� � � $�22�3
�%22� �!���  � �� !�%���8� � � ����� $%�!�3 ��� �;;���� ��� ��>����� ��� ��28�$� ��# ���
�%��� � � ?%� �� � �!��� ��!��3 ���>>��!�!� ��$2� �$$���� � ��� ��!�� �= �%!��� % ��!�� �����"
% ��!� � ��%=3 � % � �!��� >��� $2� �$$���� � � ��!�� �� � ���!�� � % � :� � !���!���� ��
�22% $��� � ?%��� � $!����2�# ����=  � >%�!�%���8� � ��8�!�� � � ;!�8� ����� :� �� �����3 � 
% � ���� �� >���# $2� �$$���� � � ��!�� ���!$�8� � ��%= !�!��� ��# ����� :���� ����=  �2
����� � ��%= �����!�� �%22� �%��!>���� ��2 ��!�# �� �$ � �!�;�;�2���= ��! �>>���� �� ��!!� ��13
�2 ������ � 	2���� �!� ��$�::�# �22������ ��2��� � ���!�� ���!� ������� ��2 ��
��
� $�	����2
9�
 <� �>>�!����" @	;;���� ���� ����� � 8���!� �$$���� � �!����!� :�# ����= � ��!� ��)
��!�� � ���� �!�>� ����=# ?%��� � ��2� ����?%�3 	;;���� 8���� % � $!� �� ?%� ����= �� �$)
$���� �� � % � �!��� >���  � 2� �;;���� ��� �>�����3 �� �!����8� ���% ?%� �� �$$���� ��22�
���� ��� � �� % � 8�2�$��3 ����� !������ �%2 �% �� �� �;;����  ����� 2��>>��!�!� �� �2�!�
�$$����# ����!� �� �����2� ���� ��� �3 ���% ?%�  � ���!� �2�% �2��� �� �<� �� �����
2� ��!��::� �<� ?%�22� >���� �2 ����� �� ���%�� ��22���!��3 �%������8��� �� �;;����  �����
?%�22� �<� � $�!$� �� �<���� ���� � �<� ���% ?%� ���= ����!�� ��2� � �<� �= �2 !�8������ ��
����! � ��2 ����!�3 9%���� !�8������ ��  � �� �� ?%�2� ����!��2� ��� ��! � 
�43 ��!
?%� �� <� 8���� ��#  � �!� ����2%���� �� ��22�$��� �� �2�!� ��!%��%!�3 �!� ��2 �%��� ���2���3
�!� �� ��2�!� ;�� ��3 9%��� �� �����!� ���� �� �;;���� ��� ��>����� �2 �!��� ����8�!�3
	 ?%���� �% �� ����� ����� ���%!� �<� ?%�22� >���� �2 ����� ��������� � 2� �;;���� ���%)
 ����� � �	
 0(
���� $�� ,
���
- �� 
���3 ����������� �� ���� % � $!���� % ���=  �)
8�2�# �� ���;!� �2 
�!��# �� % !���!�<����!� ��8�2�# �<� �!� � �� % � 8� �� � �� ��$2��#
���C= �� ���;!�# �� �� � ��!���� �%2 2%�$�13 	 �<� �2 ���� �� �� �� �>���� 8��� �>>��!�!� 2�
���� �� % � �%!;� � ��22���!��" @�2 �<� ���8� � ������!�!� �<� �2 ����!� �!� � ��!� 2C=13 ���
��!�� ��!� % � ����$�:�� � � ?%�22� ��!�� �� �8� ��" @�� �� � ����� �2 ?%����� ��2 ��!�<�B �2
8�2�8�2� >���� ����� �!�8��� �%2 >� �� � ��::�3 ��! % � 2�$$� >�����# �� 2� �%� �!����� � ��
�?%�8�2$� � ��!����� � � ��! � �� ����! �/ ��!�;;� �!!�8��� �%2 >� �� � �����3 �� ����$�)
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:�� � �<� ��! 2� ��� ����!�� :� �� ���;!� �2�%��;�2� �= 2� ��$%� ��" �2 8�2�8�2� �>>� ��8�
��! �2 �%� ���� � ��! �2 ���� ��22���?%� ��;�!���� �� % � 8�2�����= �%��!��!� � ?%�22� �<�
��!��8� 2� � >�2�!�:�� � ����?%� � ����� ��!� 2� �%� �!����� �3 � ?%� ��# �� % ��!�� �% ��#
 � ���� ���� � >�2�!���  �2 8�2�8�2� ��?%� �%>>���� �� � ��!�$$��!� 2� �%� �!����� �# 2�
��!%��%!� <� ���%�� 2�;�!� ��  �>��# �2��# ��!�� � ��28�$� ��3 �� �� �<� �� 2� >�22� �%22� >%)
��2��!� >���� ����� �� ���� ��� � �%>>���� ��# �2 8�2�8�2� ��!�;;� � ���� $�%= �� :� ���� ��)
$!�!��13

�'*/ 9%�22� �<� ��$%� �= 2��2� �� ��� ����8�!� !��� ����%�� ��� (5 !��������" ��!��
���:��2�# ����2� �� ����# 	 �!�� �%�!� �# ��!�� ��2��# 
��� 
� 
��� ����# 	  � ��22��)
���!�# ���8�  � �%��# 	 �� �22� �����22� �# ��!�� �!�:�� �!���# 	  � � ��2�� �# ���)
8�  � �� ���<��# ��:�� � ��!>���# ��%2�� �!������ �# ��%����� �� �<� �# 	2���� �!� ��)
 ����# 	2���� �!� ��!���# 	 �� �22� �� ���<��# -!� ����� 
� ����2�# ��� %�2� �� ����# ��%)
����� ��2� :�# ��!��  � ������# 
� ��2� ��2� �� �# ��%����� �����!���# 	 �� � �
�!���# ��!�� �� �� :� ��2��!� �# ��!�<� �!%;�!# ��!��2� -%22� �# ����� � �� 
����#
��!�� 
���!�� ������# 
������ ��%�����# -!� ��������2� ������ ��# �2�%��� ��!�<���#
��;����� � 
�	2>� ��# 
��� �%::�# ������� �%�!� �3 � ��%= 8�  �!� !�������� !���� %�� �
�� �!� ����8�!�" % �  � ��� ��>�����# ��2 �%��� ����22%�� � ��� ���!�;%��� � ��%2�� 
�� �3

�''/ ��� �� �2 !����!�� >� �2� ��2 
���!���� �� ��!������ �� ����2� ��22�'' �$����
'45*# �22� ���!�:�� � �� !��%��!� ��!������!� � ��� % ���= ��22� ��!� � ��2���!� �� �!����)
��!� 	 �!�� 
�!��# �<� ���%�� �2 ���� �� ������� ��22� :� �# �� ��
�
 �������
�  �8�
�!��# 	2�� �# 	!����# ����8���# 2�	%���� � �2 !���!�<����!� �!������/# �� ?%� ����8�)
����� ��22� �%�!��� �� -� � :� � % � �(*6/ ��22� ������ �!�� �� ��!�� �� ��2�!��  � �<�B
����  �8� ��22� ��!� � ��!�� ��2� �>!� �%� 2� ��  ��O# 2� �%��� ��! � 2� ���� �8� ��!)
�%���/3

�'./ �� ��  ��O# �<� 2� ����� � ��2 .5 $�%$ � '45* �% ��$ �2�:�� � ��22� ���� �8�
��!�%��� !��%��!�= �2 �� � �� ���� ��2 
�4# �= % �  �8� ���� �$!�>��� ��2 ��
#  �2�$$����
��22� �������= ��� ������� �!2 �� �� �8�" 2� ����� �<�  �2 ������;!� ��2 '457 0 �% � ��!���
��2 ��22�$�� ��!���2� �!�����%�� ��2 �!�>����! ������� �2���#  ��� ��� ��2 $�%���� ���!%�)
��!� �����!�� �%��!�22� 0 �!���!�= 2� ��%��� ��! 2� 2���2�::�:�� � �� �2 !��%��!� ��2 !�2����
��22���!�� � �<� �%$$�!C= 0 ?%�2� ���!��� ������ � ?%���� ���� �� 2�8�!� 0 �2  ��� ��22�
>!� ���� 8��
�
�� �� ��  ��O 8�  � �� ����� �22����2��  �2 '4+. ��2 $�8�! � ��$2� �����
� ���3 @���� �!� �� �2  ��� 0 �� 2�$$�  �22� ��%��� �� >����;�2���= ��22� �������= ��� �������
0 �� % ���� �!�;%= ��22�!���� �� �= % 
@ !���!�<����!� ���� ��� �� ��28���$$�� ��22� ��!� �
��2���!� ��	3 ���22������ �� ��22�  �8� ���� �$!�>��� �= ����� ���$%��� �!���� 2� �>>��� �
	22������ �� � 
���!�:�� � ��8� �� �� �8� �	
� � �%!� ��2 �� ��$�2�� ��:�� �2� ��22�

���!�<�  �2 '4+(13

�'(/ �� ���<��!�:�� � �� � !��� ���!$���� 0 �2 (* $�%$ � '45* 0 8� $� � ���C= 8�!;�)
2�::��� ��� >% :�� �!� ��22� 9%���%!� �� �%���" @�� � 8� %�� � �� ���� :� �<� ��� >�$2��
��!�� �� >���� �!�8��� � ����� ��!�� 2� ����� � ��2 .4 ��!!� ��# ��!�<�B ��� ��$ ��� ��!)
��2� ��!!�� <� �8%�� 2�  ���:�� �� % � :��# �� ����� ���� �# !����� �� � ��2�!��# 2� ?%�2�
2� ����� � ��2 .4# ��!� �� �2 $��! �2�# <� 2���� 2�  ���:�� �<� ��!�� �� �!�8�8� �%22���!��3
�� �����%!��� ��� ��$ ��� �<� �8�8� ��!2��� �2 ��;��� �22� �!� .'#(* �� ��� >�$2��3 � 
>���$2�� �;;���� ����� ���� 2�  ���:�� � �� �� � !���!���� �<� � �<� �2 $��! � �!���)
�� ��# ����!� ��2�>� ����� ��# <� �8%�� �� ����� �� ��!��3 � ��!���# ��8� �!�����!�
�<� �2 $��! � .4# ����= ���� ���# �22� ',#(*# ��� >�$2�� ��!�� �� <� ��2�>� ��� ��!�<�B � )
�<� 2%� �8�8� 2���� 2�  ���:�� �%22� ������3 ��22� ��!����� :� �� <� �<����� � �<� �� ��2�)
>� �!� � 9%���%!�# ��! ��� ��!� 2�  ���:�� �� <� 8�2%�� �2  %��!� �� ��2�>� � �� ?%����%>)
>����# �<� � �<� 2%� �8!�;;� ��2�>� ���3 �� �� ��!8� �� ��8� ��� >�$2�� �;;�� ��2�>� ���#
� :� 8� ���� �<� �= �22�����!�13

�',/ 	2 ���� �� ��2 ������!� �� ������# 2����8�� �� ��8� �% % � >2���� ���C= ��������"
?%���!� 
�4 ����2%�� 2��)���� �!���������/# ?%���!� -�OO�! �2� ���� -.5 � % ���� �� ,*.3
� !�2�:�� � �22�� �!��� �� �� ����8���= � �<� � ����� �<�!��!����� 0 <� �>>�!���� �2 �� �)
��!� ��� �!����!�� 
� � -�!���� 2�5 2%$2�� '45* �2 �� ��� 0 2� �������= <� �2�!��C= ���% ��# � 
���!�� :�# ( 8�2�8�2� �� �!��!����= ���!��� � �� �%��!�::�:�� � �� ����!��2� ��2 ������;!�
'465 � ���!�:�� �  �2 !�$���!� ���!�� �� ��!����!�:�� � ��!���!�%�2� �� ������ �13 �� ���)
��$ �� ����8� �� ��!� � �2�!� �%  �8� ���2�  �:�� �2�3 ��2 '464# �!����!��= �� ���2�� � �22��)
���!� �� 2� 2� �� �����
�- ��!�� % ��2�� � �� �����$$�!�3

�'7/ 9%�2 $��! �# �2 �� ��� 8�  � �!��� ���� 2� ��$%� �� ��:�� � �� >�!����!�# �2�!�
�%�2��!�# �!� �" ��!� ��# ���>� �# �!� ��# -2���$ �# ���������# �� �� �# 
�	��2��# ��!)
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�� �# ��� �# �� ��# ��!����<�# ���!� ��# �� �>����# �� ��# �%!�%!�# �!;� �# �� ��2;� �#
�����$ �# ��2����# ���!$�# �!���� � 
���� ��/" @��2%���� 2� �� ��:�� � �� � ���%!�::� �
�����!8�:��  �22� 2� �� ��!8��� ��22� �������= ���8��# �� �%� 2� !��� �� �!�$���� ��22���!�� ��)
�%��  �2 �!���� ��2�$ �)��2�!�� �= ��2� 2�%2���� �� �>����:�� �# �<���� �2 ��8�! � �� �� )
����!�!� ��  � �� ���� $� � %!$� �� !�$�� � ��! 2� !�8��� ��22� �� ������ � � ��2� �������=
�� �2 2�!� �!��>�!��� �� �22� �������= �� ;� ���!�A ��  � 2�����!�� �� � ��$�!� �%22� �� ��)
:�� � �� �>>���� :� ��22���!�� ���� ��$!����� � 8�2�# �� � �<� �% ?%�22� �� �%��� $2� ��!���)
;�2� ��22� �������= ���8��# �%22� 2�!� ���$%���::� �22� �� ������ � ���� %��# �%2 ��!8�:�� � ��!!�
� �% �$ � �2�!� �2��� �� ��� ��� �� ���� ���!���8�A ����$ �# � �2�!�# �2 $�8�! � � !�>�!�!�
�2 �� ��� � �!� �2 (* ������;!� '45*13

�'+/ � !��2��=# �2 ��8�! �# �% � >�!��:�� � ��22�	�!� �%���� ��2���!�# ���2%�� >� ��2)
2�� �:�� 2� ��22���� � ��2 
�4 �� ��!�� ��2���!� ���2�� �3 9%���� �= % � ��� ���<� �% �� >�!��
��22�� ��!� 8��� ��" 2���!�� �� 2� ��  � �� �= ��� �!��� � 8�2� ��  ���% �2�!� 8�2�8�2�3

�'6/ 	� �� �� ��22��!����2� 66+ ��2 ������ ��22�  �8�$�:�� �# 8�  � �� �����  �$2�
�  � �22� �������= 	�!�2� �� ���8�� ��� 2����!��:�� �� ��8�!�� ��!8�:� �� �!����!�� ��!�� �� 2�)
 �� �� � ��$%� �� �!�88����� ��"

�- ���!��� ��2 �!����� �� ��22� 
��%;;2��� 5 ��$$�� '4+5A
�- ���!��� ��2 �!����� �� ��22� 
��%;;2��� .. ����;!� '46*A
�- ���!��� ��2 �!����� �� ��22� 
��%;;2��� '* �$���� '46.A
�- ���!��� ��2 �!����� �� ��22� 
��%;;2��� .* ��!:� '4673

� >� � �� ���!��� ��2 �!����� �� ��22� 
��%;;2��� ��2 ., ��$$�� '464 8� �8� � �� )
����� �22����8�� ��� 7( !���� �� ��!8�:��3 �� ����� ��� � � 2� !�8��� ��22� �� ������ �# ��!
����8� �� �%;;2��� � ��!����# �� � �!�8���� ��22��!����2� 657 ��2 ������ ��22�  �8�$�:�� �3
� �2�!�# �2 �!����� �� �!����2� 65, �!�8��� � ���� �� ������ :� �� !�>�!��� �� � �<� �2)
2����� �� �� ������ �3 ��2 ���� ��22����8��# �2 �!�88����� �� �� ����!��2� >% �!�$� ��� ��
% � >�!��2� ���<��!�:�� � ��22� �������= �!�����%�� �� 	2�� 
�8� :�2� �<�  � �!� � $!���
�� ���!����!� 2� 2� �� $��= �%��!�::��� �� ����8���3

�'5/ �� 2�$$� �<� �!� �� �2  ��� ��22�
@ �� ���!� ��22�� �%��!��# 
��� � �!���#  �)
��� �� �2 ���!��� 2�$$�  3 .+ ��2 (* $�  ��� '464# ��� �� 8�!���� � 2�$$� �2�  3 47/ �2 (
��!�2� '464" @!��� �� �!�88����� �� %!$� �� ��! 2����� ���!�:�� � ��!��!�� �!�� ��22�
$!� �� ���!��� � �!���13

�'4/ ���!� 	����� �#  ��� � 
���  �2 '4(.# >�$%!�  �22��2� �� ��� ���� �� �� � ��)��)
2��� �<� 8�2�!� � � �2 ��!���� ��2 .+ ��!:� �2 .6 $�%$ � '45*/ �%22��)���� >�! ��� �2 ',
2%$2�� '45* ��22����8�� �% !��<����� ��22� �!��%!� ��22� 
��%;;2��� �� ��2�!��3 ��%2����
8�2� �� 	����� � �%2 
�4 �!��������� �2 .6 $�%$ � !���2� �2 'S ��$$�� '45*3

�.*/ �� ��������� � ��� �<����� ��� ���)>�!��2� �� ����!��2� 8�  �  ��� ��� �� 
���!��� ��2 �� ���!� ��� �!����!�� �2 .5 $�%$ � '45* � ;��� �$2� �!����2� 5.6 � '(.+ ��2
������ ��22�  �8�$�:�� �3 ���� �!����� �� 8�  �  ��� ���8� �2 �����! ��!2� �%::���� ��22�
��!�:�� � $� �!�2� ��22�	8��:�� � ��8�2� �22������ ��!����!� ��22���!���!�� �� 	2$<�!�3
���� ���;!� 8�  �!� �!����2��" 	 �� �� �����# 
����!�� �!������� ���!�:�� � $� �!�2�
	8��:�� � ��8�2�/# -!� ����� ����� �
�$���!� 	�!� �%���� ���2�� �/# 	2�� ����� ��� �)
���!� ��22� ��>��� ��!� �%����/# ����!� 
� �%�� ���!8�:�� �� ���!�� -�/ � �%� ����!�� � :�
	 �� � � � ����� � ��  �3 �� ��������� � �� $���= % � �!��� !�2�:�� � �!�2��� �!� �%2
������!� ��2 
�4 �2 (' 2%$2�� '45*# �!������� ��2 �� ���!� ��� �!����!�� �� 2����!� ��22�5
�$���� '45* �2 ��!2��� ��3 � ?%���� ���%�� �� 8�� � ���!������ �� �>>�!���� �<� 2�� )
8����$�:�� � �%22�� ���� �� ��!�� 8�  � �� ����� �� �� ��!�� �� � ��$���!��� � ��!����� ��2
���� �	2�� �%�!� � �!��� � ���!$�� �� ���!��� ���/" @
�� ���!�22%�$<� �>>���%��� � ��)
2�!��# ��! �!� ��!� 8���� � ��� !���!�� ����� � �������:�� � ��22�	%��!���= ��%��:��!��#
 � �� � ���!�� �8��� :� � � ��:� ��2� �� �%>>!�$�!� % � �����>��� �������3 ��! ��2� !�$�� �
�� � ����� >�!�%2��� % � ��!�� �� ������� �� 2�8�!� �%22� ��%�� ��22�� ���� ��"

'/ ��22���� � � 8�2�A
./ ��>2�$!�:�� � �� �!��$ � ���2���8� � ;�!��A
(/ �����2�A
,/ �!��� :� �� ����!��2� ��!���2��� � ;�!��A
7/ !�2�8� �� ������ �� ��!%��%!�2�3

����% � �� ?%���� ������� ����8� ����!� �!�8�2�$����  �� �� >!� �� ��22� �2�!�# � ;��� ��
���� � �������� ��22� ��������� �3 �� �!��!���= �� � ��$� � �= ����%!��� ?%� ��  � ��22�
��$$��!� �!�;�;�2���= ��22��8� ��# ;� �C= ��22� �����;�2���= �  ������!����= �� � ��!8� ��# ��
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>� � �!�8� ��8�3 ��!�� �� 2�������� �� ��  �$$���� �� ��!%��%!�2� �= ����� ��$%��� �� ��!����)
2�!� !�$%�!��# �� :� �!�2�����!� �%��� 2� � ��$� � !�2���8� �22�����!���� �� �� 8�2�����= ��22�
!��� � �� Y333Z3 � �2�!� �= ����� �8� :��� % � ��!�� �� >�!��2� !��<����� �� � �2��� � ��!�:�� �2)
2�	3�3 �� ��2�!��# �<� �8�8� �!�88��%�� �  ��� �!� ��� ��!��� ��%>>���� ��! $2� @���� %!)
$� ��13 	2�!� !��<����� �= ����� �8� :��� ��! �2 �!���$%��� �� ��22� !���!�<� �� >� � ��22� 2�)
��2�::�:�� � ��22� ��!�� �����!�� ��2 !�2����3 	22� ����� ���%�2� $2� ����!�� ������ ��22�
��������� � <�  � !�2�:�� ��� �%� !��%2���� !�$$�% ��  �2 2�!� �����!�3 �!������ �<�  � 
�%��� ?%�22� �<� 2� ��������� � �8�8� !��<����� �= ����� �>>���%���# � ?%� �� 2� ��2�� ���)
������� �� �%������ ������� � � �����# ?%�22� �� ����� ���������� �  �8�# ?%�22� ��
����� !����$!�>��� � ������# � �� % � ��2� �!���:�� �# % !��%2���� ��!�� �= ����� ��?%�����"
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��22� ������ �<� �� ?%�22� �!��������� � ��!� �22�� ��! � ��22���!���;�2� � �<� <�  � ��!���=
�%;��� >���� �!�%������ ��2�� $!�8� �� ���%��:�� � �� �!��# ���!� ���� �� � ����%22�)
�� ��13

�2 '( �����;!� ��2 '45*# �2 �� ���!� ��� �!����!�� �!�������8� �2 �!����� �� ��22� ��)
��!�# ��2�� �����# 2� ���� �� !�2�:�� � �!�2��� �!� ��22� ��������� � �%::����# �$$��! ���
�2 7 �����;!�3 ��2 !����!�� �� 2�$$�" @�� ��������� � <� �� ����� 2�� 8����$�:�� � ���)
 ��� ��  ���8�2� �� �;�����8� ��>>���2��= ��8%�� �22� ���!����= ��$2� �2��� �� �� � ��$� �3 � )
>���� �2 !�2���� ����!� ��8� ��� !�$���!���!� �� 8�2� 0 ��E+�� *���
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��>>���2� ���� 2� �!�>� ����= �.37**)(3*** ���!�/ � �2 >���� �<� 2���!���;�2� ��� ��8��� � �2)
�� � �%� �!� �� � �!� ����2�3 ��22� !����� ������� �<� �� ����� �!!�8�!� � 2���2�::�!� 2�
��!��# 0 �2 2�!� !��%��!� ����!� ��� ����� �� �������;�2� � ���% ?%� �� ����� �2�8��������
����� ��	 ��! % �� �2�$� ���!�:�� � � ��2� '3.** ���!� �� �!�>� ����= ��!2� � �� % �����
�� ��!�� ��::� ��2��!��# ����� '465# ��! 2� ��2� � ��8��%�:�� � �� % ��2��!�� � ��::� ��!
�2 �� ����8� �� !��%��!�/3 �� ��������� � �!!�8�= ?%� �� �22� �� 8� :�� � �<�# � ;��� �22�
����� ��22� � ��$� � � �� $2� �2��� �� � �������:�� �# !�$�� �8�2�� �� �� ����8� � ���2%)
��!� @2� ������� �� ������ �� ��!%��%!�2� � ��22� ��22���� � � 8�2� �� �2�!� 8�2�8�2�13
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8�!� ��22� ��������� � � �����2� �� ��$2� �<� �!� � ��!� � ������ ��$2� ����� ��22� � �2���
�<����<� �%� !���� ��2 
�4 �������� ��2 ��$���!���# $2� �!�������8� % � @��%��� �� >����;�)
2���=# �� !�2���8� � �2��� ��� �����# ��! �2 !��%��!� ��� !�2���� � ��!�13

�2 .. ������;!� ��2 '45(# � % ��2�!� 2����!� � ��!�::��� � �2�%��� ��$ �!�2�# �� ���!�
��� �!����!��# ��!2� �%::���� !�;���8� 2�  ��������= �� � ��!8� �!� �!���� $2� �!$� � �!������ �2
>� � �� �� ����!� $2� ����� ��22� � �2��� �<����<�" @
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���# �� �2 ?%�2� 2� ���)
������ � <� ����!� ��22�;�!��� ��!������ ��# �� � ��$%��� �� % � 8����� �� 2�8�!� �>>���%���
�!���� 2�	�� �� �2 
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�� !���!�<� �� 2�;�!���!��# ���� �� �8��� :��!� �8� �%�2� �!���� �� ���2���8�# 8�  �!� !��<��)
��� %2��!��!� � �2��� �2 ��;�!���!�� ��22�	�!� �%���� ��2���!� �%� !���!�� � �������:�� � Y333Z3
�� ��������� � !���� � �<� �2 �������� ��� ������ ���%�� �� ��!�����!�;;� �� �!���$%�!� 2�
� ��$� � >� � �� �!!�8�!� � >�! 2%�� ��>� ���8��� �� �% ?%���� � ?%���� �� ��������# �<�
�� �� ������ 2���� �� � �%;;2��� ���2�� � �� ����!�13

� �>>����# �%::���� 0 2�5 ����;!� '45. 0 ��!���� �2 ������%�� �� ���!��� �<���� ��$2� ��
����! �� ����!� � !��%2���� ��22� � �2���  �� 2�;�!���!� ��22�	�!� �%���� ��2���!�# @�2 >� �#
��!�� ��# �� ����! �!���$%�!� � �����;�2�� �� ��!�� �!� � 2�8�!�1 >�!�� �2 '+ ��!:�
'45.# ���� �� �� ��$ � ��22� ��!:� !�2�:�� � ��>� ���8� �%2 ������!� ��2 
�4 ��2 ��!�$!�>�
(3. �� 2�$$�8�" @��%�� ��22�� ���� �� �= ����� 2� ��>2�$!�:�� � �� % �!��$ � ���2���8�3 	2
���� ��  � �� �= � $!��� �� �>>�!��!� �� 2��!��$ � ���2���8� >���� ����� ��22����� �
;�!�� �!��� ��22� ��!�� :� �88�!� �!�8� ���� ��22�����! � ��22���!���;�2�3 �= �����;�2�
�<� 2� %2��!��!� � �2��� �� 2�;�!���!�� ��!����� � �� � ��8��%�!� 2�  ��%!� ��22��!��$ � ���2�)
��8� �� �2 �%� !�2���8� ����:�� ��� �� �2 ���� �� ��22� ��>2�$!�:�� �# � ���� �� �!�!��
2�% ��� ��!��� � ��!� ��!��!!�;�2� �= ?%�22� �� �� ��!� �� 2���2�::�!� � �%������8��� �� >���)
$!�>�!� �D� !��%��!�!� � !�2����1/3

�2 .7 ��!:� '45+# �2 �!����� �� ��22� ��������� � �� ����!��2� ��!�8� % � 2% $� 2��)
��!� �2 �� ���!� ��� �!����!��  �22� ?%�2�# �� �!� ���<��!� �<� �2 ������� �>>����� �2 �%�
�!$� ���� �= �!��� ���%!��� ��� >���� �%::���� ����$2�� 2� ��������� � @� �� �� :� �� %2)
��!��!� �2��� �� �� ������8�1/# ��22��2�!� �� � �2�% � �% �� >�!��# ���� ��� �  � �� � 8����)
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��
8��
��������� ������- � �� �2 
	

� 0,�B�	 ,
�
���� ��� "
�
	�+�
�� /����	���
�
��-


